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1)

2)

3)

4)

5)

99 11D 2927 2% TIRYOR D NOTA UDRAS IRP RYT P''IT TApY

mwn
a) 777 AP0 907 P2 L. 0T DA Nk B opn

i) "oomow ' 3 am oomow A I AT o

1) "7%meY 0215w 1M1 AT XN 2000 1M AT
moaoin and w"RY
a) Nwp

i) Once the mwn says that n2>7a0 J1an0 2257 why is a M w of oonov relevant
v17°n of mooIn
a) The 2m> must be as wide as the 31 or the M w — whichever is less
7170 of w"RA
a) The 2m> must be as wide as the 1> — no matter what the x1n is

b) What depends on the x13n is only whether the n1> needs to be made of 21 or n°ma
0or so on

c) Here’s proof a >m> needs to be at least as wide as the Myw
i) A mwnat.1n7says that
(1) A %m> needs to be mnx '7 high
(2) and to support a n°1x 501> of this height the 01> needs to be 5 o now wide

ii) The xma at .3 77 explains that a 2m> of n°1x that’s four nvax high can stand
only if it’s five o>nov wide

R"wIN
a) ToRw

i) how does maoin respond to this &
b) nawn

i) Moo at MR ¥29XR 17"7 0N @ 77 says that a 7x°ma of N1 that’s Nk '7 high
needs to be 5 o'oY wide only if it’s to be 2°27 2 7AW

i) Consistent with the msoin at :3 77 - mooIn here means that the M yw for n°m is
5 o'nov but is less if the 71717 271 is that n°ra Mx°nn aren’t built to be 72w
apnpRalial
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1) mnpn

a) If axn is large enough to have a i%n 17 either anw can demand 191

b) If a1xn is too small to have a 171 17 there can be no 1171 unless both aanmw
agree by 1°1p to be pomia the xn

c) Ifthereis a p1on of a qxn
i) at a minimum there needs to be a 0o°0n to mark the npYon
ii) and
(1) if pron w0 proa either amw can demand that a 2m> be built in place of
the oo°on

(2) If pra snw w5 "7 prn the o901 is enough and no 501> need be built
unless both asmw agree by 1°3p to build it

2) mwn
a) YXNR2 DMOT DR PN O WY R Ponw
b) omIw 5w 0°aRm DIPRT 2MdT o1 OR 7299
3) Xmx - xnp R as explained by nwoin
a) The mawn deals with a 1 that has a 2191 127 and holds that prm “nw IR "RA P

b) People still remember that the a*snw had originally agreed by 13 to build the
%m> and

i) "729%" — because of this agreement and 1p and the resulting 217 to build a
%m> together



4)

5)

6)

i) omIw W 2°1aRm D3P PNt o1 oR

X723 — X022 X1w°H as explained by mooin

a) Partl
i) The mwn deals with a 2xn that has no 31217 17 and holds that prn “nw "R pron
i) Although

(1) no one remembers that the 1onw had originally agreed by 11 to be ponn
the ~xn

(2) the mawn assumes that they did so
iii) And
(1) "72°9%" — once there was a 7?1217 and because proi "nw "R prn there is the
resulting 21 to build a >m>
(2) omaw W DoaRm DIPR 2N 91 oXR
b) Part?2
i) noRw

(1) Why do we assume that the panmw in a ap1%n 17 72 XY 187 had agreed by
771 to make a npon

i) nawn
(1) If there was no agreement and no 73 the >m> would never have been built
X"wInn at 72797 "y
a) ToRw

i) For the xnp xaw% why is it necessary that people remember that the ponw
agreed by 11p to build the 5n1>

i) Why isn’t it enough proof that if there were no agreement the >nm> would
never have been built

b) nawn

i) Since the 2¥n1 had a 71217 1°7 and either Anw could have been ponn the a3 it’s
possible that a nanw made this 171 and built the 51> himself on his half of
the xn

mooin
a) TP

i) It’s ynwn from the mawn that if there were no "72°9%" — meaning that if the
omw had no 2vrn to build the 5nm> — the o°3ax would belong to the Anw in
whose mwn they fell

i) Because this amw — nwiw — has the mvw that he is a prmn while the other amw
— 12 — IS @ 1ann Xoxm and PRI Yy

b) xwp



i) Even without "72°5%" why don’t we say that the o°3ax belong to both osmw —
even if they fell in the mw of pynw

il) because
(1) neither amw had set up a n°mn to prove that he had built the 2m> himself
(2) The case counts as a poo

(3) And a oo can be resolved by "xn>>p 1¥n7 XMW 1N only in special
cases

(@) where "pooin 7911 1A TR MW" — the 0°v1o of the special case aren’t
relevant here

(b) Or where - as we’ll see below — the items that are pooa are 7277 nmw
in one MW"

c) y™n

1) It’s this &wp that the X373 has in mind when on .3 77 the x7n3 asks that it’s a
muw»s that the o°12x are o >w

i) And this is what the X3 means by its y17°n

(1) The mawn teaches the xman that the o°1ax are omaw 5w even if they were
7297 amw in the mwn of Pwnw and “R17 199y 1ann &oxnn applies

(2) And &»°n7 3 | might have thought that

(@) nvnw is 1mR1 based on 11277 77w because of X177 15V 1AM XXM tO
say vnwy and the xmy>1 of why he put up no n1n is overcome

(b) Based on a wn that if he were lying he could have said

(i) It’s correct that 121%7 and | built the 5m> together and that’s why |
didn’t set up a nrm

(ii) But afterwards vnnp% — | bought the n1a

(c) And nynw would have been 1211 with this 7avv because of x°xwan
bR 1OV 1A and to say *nhp isn’t a 17°no to his not having put up
anim

iii) 1% vawn Rp that
(1) based on "72°5%" and the ma>»nnn of both Poanw to build the 5m>

(2) The won of Nyaw counts as a 0>7v 0pna wn because >0 1k that Nwnw
wouldn’t build the 7m> himself without enforcing his right to have 121x
join him

d) wwp
i)  Why is 1nynw supported by "Rai1 159 1717201 XoxXnn
ii) In"%vm n°an the X na says that 7778 79 X9 Pomw

e) 1IN



i) For things that are 721 a1 7MW they are >770R >7op

7) Twnia of moown on avpa

3)
b)

8)
a)

b)

There is no ma»nn:i for pomw to put up a >m> in a 7vpa

It follows that where neither anw put up a n°m and %128 were 72177 71 3w in
the mw~ of Pynw

i) Twnw is 1aR1 to say newy by way of wn he could have said 1nnp%
i) Because this wn isn’t 2>7v opn2

But where both panw put up a n°rim and o03ax were 721 a1 amw in the mw- of
a7

i) wnw is 1ar1 to say »onph based on PRI VOY 1A ROXINT

i) But he’s not 1K1 to say 1°n*wy — even with a 13» - because the n°ri1 each put up
is absolute proof that both built the 5n> together

R"wAmn at 1998 7"R2

Xowp

1) At the point of the x>wp of mooIn before mooin says the mawn deals with 7w
7217 AT

i) Instead of asking

(1) Even without "72°5%" why don’t we say that the o°1ax belong to both yonmw
—even if they fell in the mw~ of Nynw

(2) Because to resolve a poo based on "x&n>>p 11T Xmw2 1" applies only
where "»50;:7 7911 1R TR M2

iii) Why doesn’t m»oin ask more simply based on the &3 in "5y n°a7 that

(1) Even without "72°5%" why don’t we say that the o°3ax belong to both
o omw — even if they fell in the mwn of nynw — because &»7 MWH2 1M
xn»p doesn’t apply to Pomw who are 7718 *79p K?

v°n

i) The rule of »777% >15p X applies only to things that were known to have been
owned once by both Pamw

ii) Now
(1) mooin in its xwp deals with a mvw by nynw that »Ynowy so it can’t be that it
was o 5w X1w y7 and it follows that *777% >79p
(2) but moonin its YN

(a) deals with whether nw»w would be jnx1 if he says at first we put up the
%m> together — so it’s 317 that the Sm> was aaw Hw — and then »nnp>

(1) and that’s why n»oin needs to explain why the rule of >7op X% Ponmw
7R isn’t applied



2) X
a) xwp as explained by msoin

i)  Why do both ysmw put up a nrn for a 7vpa to prove that they built a nm>
together

i) The same result of o w o°12x% would apply if nether puts up a nn
3) X"wann at nypaa axr 7"Ka
a) Nwp
i) We established that

(1) If both yomw put up a n*n then Pynw can be 791 only with a miyv of
*nnp? but not with a mavv of ynowy

(2) But if the yomw don’t put up a n°mi then Nwaw is also k1 to say rnwy
i) So it’s to the advantage of onmw to each put up a n°im
b) v n

i) Since — even if both put Panw put up a n°m — Pwnw would still be ki to
say “nnp>

ii) the main remedy of a anmw in any case is to claim the o°12x before they’re
721 7t 3w in the mws of the other amw

10
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1) mwn

a)

YXNR2 PN1277 DR P2 IR0 MWY? 180 1PONIwn

2) X

a)

b)

Nap R

i) The mwn deals with a 7121 1°7 72 w>w 130 where either nmw can demand
a9 of the 1xn

i) when the mwn says "nxonn" mwy? 137 the mawn means that after a np1on the
oM agreed by 1°1p to build a n>

iii) since without this agreement psmw needn’t build a 5n> at all even once
they’ve divided their 1% because prom "nw X7 X1 pri

Xowp
i) instead of saying that panw who agree to make a ;7¥°nm must build a »n
i) the mwn should have said
(1) yonmw who agree to make a 7¥°nn must build 1nIR
(2) Where 1mx refers back to "7x°nn" that for this 7w means 501
v17°n according to "wA
i) if the mwn were to say "1nmR" | might mistakenly have thought that
(1) n¥°nn means a 8ny2 09°0n

(2) the mwn deals with a 31%n 17 72 pRw 2xn and holds that »nw X% "R pron

ahl
(3) and the mwn teaches that
(@) omw can by ap agree to divide a apYon 17 72 PRW %0
(b) And if they do divide the 2zn
(i) although
1. they needn’t build a %03 since Prom "W W? XY P

11



2. they do need to build a o5°on to mark off the new division
3) mooin

a) X°wp on the nww of *"wA

i) why might we have thought that our mawn needs to teach that panw can agree
to divide a np1on 17 72 pRWw 180 and that if they do they need to build a ooon

i) when
(1) we already know from a miwn at .x> 77 that 1amw can agree to divide a q%n
that otherwise has no 1% 17

(2) And it’s a mw ws that once a "xn is divided either amw can demand that
there be a oo°0n to mark off the np1on

4) X"wan
a) xwp on the x°wp of n»voIn

1) you’re right that I’d know without our m1wn that either anmw can demand a
D5°0N

i1) but I’d say that the m1wn here is needed to teach that the 0o on must be placed
y¥nRa — on the boundary of the np1on

b) here’s proof
i) MO in Y¥naR2 YMoT DR P12 7"70 suggests that
(1) for the 7"n that pri “nw X1 P
(2) our mwn needs to teach that the 5> is built yxiaxa
(3) Because otherwise we might have thought that

(a) Although a nmw can demand that the other nmw share the expense of
building a m> to protect against X1 proi

(b) The first amw can’t demand that it be built on joint property at the
boundary

c) Two ox1n
i) First y»n
(1) Don’t compare
(@) a%m> for the WY that pros “nw XA pra
(b) to oo°on for the WY that prm “nw XY "RI P

(2) Unlike a 5n1> that’s built to protect against "X 7 and that protects just
as well if it’s built at the edge of the property of one amw

(3) a ooon that’s built to mark a boundary against trespassers — 0sn1 8w *73"
2130 19y — won’t mark off all trespassing unless it’s built precisely on the
boundary

i) Second y1°n

12



(1) The word p»m implies a precise split

(2) Our mwn that doesn’t use the word "Pp21n" and that’s why we might not
have known "yxnx2a" if the miwn didn’t say yxnxa

(3) But

(@) the mwn at .x> 77 that says 120w can agree to be P2 a 73 that
otherwise has no 1% 127 and that implies that there needs to be a
oo°on to mark off the np1on

(b) also implies that the o5°07 needs to be built on the precise boundary of
the np1on

13
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TPYOR 197 92 WIT 1190 RAIRT BNI52 N22 IXINIW N5 IR DM N2 2w Y BRaTh
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127 772 910P RY K27 AR DS 0I5 WA TR 7T MR 239097 1R 1T D17
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1) mwnat.na7
a) VXN 2T DR P12 AXmn MwY? WO 1omw
b) omaw 5w 0o1aRm HMoT 901 oX 7299
2) X
a) Nnp N

i) The mwn deals with a 7?1917 17 72 wow 1¥n where either namw can demand
1o of the 1xn

ii) when the mawn says ¥ nn mwy? 137 the mawn means that after a n1on the
Pomw agreed by 1°1p to build a n>

iii) Because
(1) without this agreement to build a 5n1> and a 11p to make it binding
(2) yomw needn’t build a 5m> at all even once they’ve divided their 2xn
(3) because pri nw Y PRI P
3) moown at.aq7at 7% a"y

a) The o2k belong to both panw because people still remember that they
originally agreed by 1217 to build the 5m>

4) mwnat.na7
a) N2 NI P21 20w ¥ PN
5) X3 here
a) Nwp to xnp RO
i) Since proa nw WL X1 pri why must the panmw rebuild the 5no
b) v
i) CIRw 991
6) °"wa —x0a of "akw Ho1"

a) the yanmw originally agreed to build the 2nm> that was 9911 and this agreement
continues in effect

7) nmooin explains "axw 501" differently
8) X"wann

14



b)

d)

ToRWY
i) why does m»oin disagree with »"w9
72wn

i) moown says that in a 7p1%n 17 72 WOWw XA it’s not necessarily so that the
1o agreed to build the first > together

ii) because maybe one amw was p>rn the 2xn and built the %m> on his own
mwn without agreement of the other amw

Xowp to the xwp of mooin on >"wA

1) To answer the xwp of m»poIn say that the mawn at .17 77 — the same as the
mawn at .2 77 — deals with where people remember that the 1smw initially
agreed by 1ip to build the 5015

'aRb
1) themwnat.an7
(1) refers to 1x1 which means they agreed to build the 55

(2) so we can extend this and say that the n1wn at .2 77 deals with where
people still remember this agreement later when the 5m> is 501

i) the mwn at .7 77 doesn’t refer to 1%

15
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N7 NITAY 593 DDIDRD IPIDMY MR IRAT YT INT 2R DI ODOOR2 MVRT YT K97
RDITT 1PNOINMT 0D RIORT 23 5P AR NIBOINT 12N 19 Dy oI ' mnbn
MAPIND RDIRT 2'"A0 aNMT TR U0 DAY KD R RNDR T PINT TORWT JPRAWN
PIT RWT RNDR T OJBPIMWKD P2 ORT D M DT IZTM Mbn RYna
TP JDARWKRY K2 RDT 2"V RN 137 XDT 23 DY R Y90 197 72 whn 0 Jovned
2927 7P KON 7 RDT MR KDY 2''Ya 939D 137 907 XnR 77 RN inna Xnbn
SRT JIRAY "ID 2INIT 2TIRWR JATA RDOD2 RIUN RNDR TIT D RINY JApD PIORT)
B2 JOP2T7 X277 2'"AR TN 20PN 2°1p Dw B5%RR 30D 137 957 R annT hinnn
RPINT RIPOVR 790 IRM SNORT 'OINT WP RN 11D NITAY DA VTN ATIAD TN
Y IR N3 RTIA NIRDY 'Y RO RDT AR 107 2 PR PN TRRT 'R e
7o RAT DIPH WD ORIINOR KDY RTIA MYH 2"YT RN20 TIT anRnD PR
OO RTIMDNT K17 RLRIP N7 9" nivanh 2pn PR KT XDWM 9957 9" nonn
MRYD AR D''Y2 ADD 1XTT JPYRWRT RUR PINT ORRT JOPIMWRKRY D90 RIR RDT RO
RIT RURIPT B PRI 790 2PN NTIAT MTAN NXPR2Y 0DI0R2 A0 KPY KT
S""7 ROMA NIONMA O RY T 9D 2a 1R DRy DOpT 3 PINND 20w YanRnT
SRR 95D ROT IXININT TIADNT NPRPY 721 TRRYA K17 IXINN NN IR
Q7 29N2 W'D 22T 9D NRP 1T ONOINIT 'OINT M1272 IND QOB NITAT 12

:2""977 2R 92

1) First nnpn
a) in this X210
i) "°m>" means a wall that has no ma1on — for example a wall of n°1x
i) "ooon" means either
(1) a n>rx Sw oo°on that differs from a 5015 only because the oo°on has nmivon
(2) or a o°1p Hw ¥11a oo°on that has no mnon
2) Second mnTpi
a) Inanpon 7 2 ww qxn any amw can force ap1on
b) Inaapbn 17 02 PR 130 both onmw need to agree by yap for there to be a ap1on
3) Third an7pi
a) I pra nw Ra prn

16



4)

5)

6)

7)

8)

9)

i) the pamw in a 2xn that was divided need to build a 5n1> to avoid &2 1o — and
it’s a mww» that this >n1> must have no nn°n

Fourth nnTpn

a) Even if pron "nw X% X1 pron there needs to be a i¥onn to mark the boundary of a
PN

b) we’ll discuss below what kind of 1x¥°nn is needed for this purpose
Fifth nn7pn
a) mwnat.2n7
1) YXAR2 PNMOT DR P12 IR0 MWY? R Ponws
i) 7177 3mn2 97
Sixth nnpn
a) Nnp N

i) The mwn deals with a 2xn that has a n12r 17 where either amw can force a
mon

i) "nyonn mwy 1x7" means the pomw agreed by yap to build a P> because
without this agreement by 1217 there’s no 21°11 to build a 5n1> because &3 pron
P17 W IR

iii) The mwn teaches the ka1 that this 117 doesn’t count as Xn5ya 02727 7Ip
because "nmmn2a 1p" — the meaning of mm"211p isn’t relevant here

b) X7na xws
i) The mwn deals with a =z that has no ap1%n 1
i) "mxenmn mwyh 181" means the onmw agreed by 13 to divide the 2xn

iii) And once the 11 is divided the Panmw need to build a m> because X1 pron
AR

Seventh n7pn
a) mwnat.x 97
i) "MPY2M aPIPN PT XM PRWD 129D P Ty jara”
R plah!
a) 7 ' agrees with Xxana xaw°?
b) Xwp to 1 ' and X7na Rwo
i)  Why does the mawn at .2 77 need to teach that if Pp2i7 139
i) x1in —we already know this from the mwn at .x° q7
mooin as explained by &"wann
a) Xwp to the xwp of X1in
i) Say that
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b)

d)

(1) the mawn at .2 77 is needed to teach that yonmw in a divided 2% need to
build a Pm> because prn "nw PRI P

(2) and the mwn at .&> 77 doesn’t teach this 7

ToRY

1)  Why does mooin in its Xwp assume the X713 doesn’t derive this 17 also from
the mawn at .X> a7

72wn

i) Because it must be that from the miwn at .x> 77 we can’t derive that X1 P
P AW

i) Since otherwise
(1) Instead of basing a x*wp of xran from the mwn at .x> 7 to M " and x>

X7n2
(2) The x 3 should have asked the more serious &*wp to xnp x> that the
mwn at .X° a7 holds that prn "nw X1 P17

ToRY

i) Why in fact don’t we derive from the mawn at .x> 77 that pri7 “nw X1 prn

ii) After all it’s a mv wo that after a np1n that there needs to be some xm that
marks the boundary of the np1on

iii) And at this 25w of the x>0 we haven’t yet realized that a 0°1p 5w 3173 0901 —
that doesn’t protect against "X7 P17 — isn’t enough to serve as this X7

mawn

i) Even at this early part of the x°>x10 we realize that the X712 can be a 21 09°0n
o1 that’s Mo 891 and doesn’t protect against “X3 P17

So the x°wp remains

i)  Why does the x7n3 ask for jam1 ' and x&np R that the miwn at .2 77 is already
X1°1Nn

i) When the miwn at .x> 77 doesn’t prove that p1°77 "nw X3 P so it’s left to the
mwn at .2 7 to teach that pron “nw XA oo

10) qwnn of moaoin — 170 to explain why the & ma asks R1°1n

a)
b)

d)

If the purpose of the mawn at .2 77 is to teach that p1on “nw X1 pri

the mwn should have taught this 17 in a case of a npYon 17 72 wow 2N where we
can’t be v and think that the purpose of the fawn is to teach for a 72 PRw 230
npYon 17 there can still be apon if there was an agreement by 1ip

So it must be that the purpose of the fawn is in fact only to teach for a 72 PRw 22n
7pYon 17 that there can still be apon if there is agreement by 1ip and the 1ap isn’t
a Xnova o»a7 pip if mma e

and the x*wp remains that this 1°7 is already X11n in the mwn at .x* 77

18



11) x93 — y1on to the xwp of X1n
a) 7w of the X
i) "2M> X277 9"mp XDV DDO0MA INON NIND 17°OK RIAR M7 ann X"
b) =2 of the y17°n as understood by our X093 in MvOIN

1) The niwn at .2 77 teaches that 1omw that agree by 11p to divide a 172 PRw 2x2n
7191 17 must build a 710777 2730 n°13 Yo to mark off the 71%m and it’s not
enough to set up a yIx2 23PN 0°1p HW 3173 090N

i) The mwn teaches nothing about "X~ pron
12) qwni of mooin as explained by R"waan
a) anTpnto the xowp of mvoin
i) Return to xwp of X1°1n as mooin has just explained it
(1) If the purpose of the mawn at .2 77 is to teach that pron “nw X1 pra

(2) the mwn should have taught this 17 in a case of a P 197 72 wow 180
where we can’t be n¥ and think that the purpose of the mawn is to teach
for a npYon 17 72 PRWw 130 there can still be 1o if there was an agreement
by 1P

(3) So it must be that the purpose of the iawn is in fact only to teach for a =xn
TPYon 17 72 pRw that there can still be apon if there is agreement by Pip
and the 37 isn’t a Xn%va o°127 PIp if mm2ap

(4) and the x>wp remains that this 17 is already X1°1n in the mawn at .x> 77
b) xwp

i) Why doesn’t the X3 answer that the purpose of the 7awn at 2 77 is in fact to
teach that prn “nw X3 P

i) And
(1) the reason that the iawn sets out this 7 in the case of a 17 172 PRY 28n
hiaivis!
(2) is to teach that

(@) a amw who agrees to do a 121 of a AP on 17 12 PRW 1¥0 can’t avoid
making a %n1> that protects against “x1 pri

(b) by saying I agreed to do a 1?1217 only on condition that I won’t become
2nn to join in building a X7 — X7 MWY? N1n HY %2R P10 ORXNK 02"
"RYINR RO

13) 7P to the qwni of X"wAinn
a) o a7 moonat:any
i) xwp of >" to XN XS
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(1) Why does the mwn deal with 1191 17 72 pRw %0 and if there’s an
agreement by 1ip for np1on there’s a 21°n to build a 5> because &2 pri
AR

(2) When the mawn could more simply have dealt with 7pYomn 17 72 wow 2xn
where there’s no need for an agreement on npY2r and once any anmw
demands 732171 the 1omw need to build a %n1> to avoid &1 pro

i) yrn
(1) The nawn teaches also that

(@) anmw who agrees to do a npyon of a P12n 17 72 PRY 98N can’t avoid
making a 701> that protects against “x1 pri

(b) by saying | agreed to do a 13?1217 only on condition that | won’t become
277 to join in building a X7 — X713 MWY? nan HY HaR P1207 SRR 0"
"SRYIR K

b) xwpto "

1) the X3 at .2 q7 has just established that the mawn teaches nothing at all about
R alnthi

14) qwni of ®"wann — nvw of o v

a) 107w in mooin at 12 ynwn XY a7 say that nmooin actually relies on the x120 of
*R¥IN°K °3 as part of a y11°n to the &wp of X1 that’s different from the y17°n of
Mmoo as we’ve explained it for our X073

i) Namely
(1) by its w5 - "M 827 2R X1HY2 092012 RN NIND 120X RIMKR 717 ONTH R
(2) The xmx means that
(@) the purpose of the mawn at .2 77 is in fact to teach that pron “nw &3 pri

(b) The mawn teaches this in a case of 112 197 12 PRW 30 to teach also that
that a nmw who agrees to do a 12 of a npYon 17 72 PRW 180 can’t
later say "xxnx 2" and thereby avoid making a %1 that’s Pan
against "x2 pronand instead join only in making a oo°on that has ninon

b) now

i) the xwp of *" is certainly understandable for the mvw of 1o w° that holds
that the mawn at .2 77 teaches that 1o nw "X prn

il) but we still need to explain that >" had a row in the &0 that’s different from
ours

iii) Because >"1 wouldn’t himself set out a X°wp and y17°n that are "p2a1p" to the
xwp and y17°n of the xma

c) XR"wann uses the word "1217p" and doesn’t say "wnn 117" because
i) The x*wp of the X773 is X1an in the mawn at x> 77

20



i) While the x>wp of >" is why the m1wn at .2 77 needs to teach the 17 of "X proi
in a > 7 72 PRY X0
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AT
N1 'XN XnNa

B2 "D MY MBED RNDIT ROORT 1IN KON 110192 RN KM [2 7Y 3 7]
2''™Y 'DIN5T SMaTR NN

NLU'"? 2 n"an "IN

7' 90 71007 B oY MW RN ROONR 1D 917 RINOD 2 RW1P 02 7' a2 'own
NBMIP2Y RVMPH RUMP 52 NP9 IR INOD 1I0NT RNNODAT 797 AR 2PR
NRI71O0 172 977 RIWSD HIDD MW RNNWH RNND 02 MWD NI PN WINT

'™y 2 P NAnn

2NOW W'RT YT IR W AATT R oY "2 napn T2 997 NI na 2 any '
T72Y 9RT 3T ANSW 2OWIIMNT NYTS RUR MIVI 2IWR 920 KWW MY T
12 "D a1 927 AW 15 K127 NP2 RTINON PI0RTAT RNIPIWDD WM M1 KUY
22 TR ROR TN 2PN OTR TOWRDT 7770 KPR »NB1 aNT ans Rwm 'y
B2 2 VPR RTIN T KDY RIRTT RNNWT 7121 RWOPT 72 200 0w nnpn
2D PR WX 712 2w w7 0 IR RNk wm XY 901 RT N »Ipa 3 v
wWR 7ERY "D MWED RNDIT RSORT MRPT NI RMPWDT NRHH BR "D
"ER R PR AN 72 2R w2 DaR NN RN21T KON 7''2 2w PR 17T RNyws

"7 RMPOWDT RIROHH

1) x7m3 according to the xo7a of X"wAin
a) °NMINR RNW1ID %2 °127 TV RNW°ID °2 WOPKR 7IN0°7 K7
i) Because we’re v either
(1) xmywo own — that the replacement noisi7 n°a might not be built

(2) or m>x own — that there might not be a 7%sn oy when the first no13:7 n°2
is destroyed

b) %% RN1T RI°RT W12 XN

c) i and X would destroy and rebuild their summer noiai7 n°a in the winter
—and they would destroy and rebuild their winter no15:1 n°a in the summer

2) mooina 7"x7 as explained by X"wAan
a) There are two possible o°2%mn to understand the mv>w of 9> and X n
i) First72am

(1) there was only one no1>i1 n°2 that was destroyed and rebuilt every summer
for winter and every winter for summer

(@) the winter cold didn’t allow the summer format of the no1377 n°a to be
used in the winter
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3)

b)

d)

e)

(b) the summer heat didn’t allow the winter format of the no1>7 n*2 to be
used in the summer

(c) the heat and cold count as a xin — a serious structural defect

(d) if there is a &m71°>n a noId77 N2 can be destroyed even if there is no
replacement no1>i1 N2

ii) second 77mn
(1) There were two n1°01> °n2

(a) one was used in the summer and was destroyed in the winter and
rebuilt for use next summer not because of the xm°n of heat or cold

(b) the other was used in the winter and was destroyed in the summer and
rebuilt for use next winter not because of the xm1°n of heat or cold

Xowp
i) For the second 77nn

(1) 1understand that because there was a second no1>7 n°a they weren’t w»n
R\

(2) But why wasn’t there a wwn of Ry w»
v17°n as explained by X"wann
i) The wwn for xmyw» didn’t apply
(1) Either because there was an actual &m1°n other than heat or cold

(2) Or —even if the old no1>:1 n°a is never rebuilt — they could still be %%5nn in
the remaining no1on n°2 and the wwn of Xmy*wd doesn’t apply where there
is a remaining noi>n N2

Rowp
i) We established that we’re wn for Xmy ws even where there’s %% X217
raRus

i) We’re wrn for xmywo only where the »5x% Xn217 isn’t a N0 N°2

X"wAnn

a)
b)

The y17°n of 90N is consistent with Aoy P

The y17°n of mooIn isn’t consistent with W' who says that Xuir am1 R
disagree with x7011 21 and say there we’re never w1 for xmy ws and the only
wwn is that there be %% xno17
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LT 97T
NE D0 2" T NIvoIn
By "5 YPa ano Bar o whnh w1 KDWY "D unp o "IN [R Ty 7 7]
YRR TV TR 2IPRDY NARPT RRONT RPIVT RPN M1 RNWTT TP RWPT 20N
YRR MTAY AT ROW 2IPRY NPT RDIDT RPITR 12T PR RAND KT IR Pa»in
ban 32 WHDY WY M1 RDOD2T MW 190%%T 1w 92997 RRAND KT ININ 19290 IR
PODDR FTYPAN A1 RWIT2T 1190 DANR INRM O TWPR RP DR R20 ¥ "D Ypa and
N2ND XU RN 15 KD 290% 71932 "D 2n0 BaR KN 10 ypaa ban b kY
'Y POROR SOINAT ORP T IYPAN
1) nwn
a) Rw™M
1) IR P21 NTAD AT QIR 73932 1)
b) w90
1) IR PO PR MTAD ROW T 2R Avpaa DI
2) R
a) Nwp

i) From the xw»n says it’s yawn that 73°3 ano needs no 173 while from the o0 it’s
ynwn that nvpa ano does need a 17

i) How can it be that the rule for nypa ono in the xo°0 is stricter than the rule for
7% ano in the xw

b) y1nof »ax
i) The xw that reads "X P21 737 WA 2P 71032 101"
i) means
(1) IR PRI N2 WA 2PR1A [AYPA] [IMR aema] e [ano] 19
C) X
1) Xwp as explained by *"wn

(1) If the xw>n already dealt with nyp2 why does the x2°0 begin with 5ax"
"7vpaa that suggests we hadn’t yet discussed nypa

(2) The mawn should instead have read this way
(a) xw as explained by »ax
(i) IR PRI NTD WA 2PRA [AYPA] MR 22mn] A [ano] 19
(b) The x>0 per the xwp of 21
(i) MR P PR NTAD ROV WIIW 2Pn AYRaa AR
3) mooin
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a) Xwpto »ax
i) Review the xv» and xo°0 as explained by »ax
(1) xwm
(@) YR I NTAD W PR32 [AYpad] [N Pavnn] 803 [ano] 1o
(2) ®o°0
(@) MR P2 PR NTA? ROV MW 2PN AYPI2 PaR
i) It’s correct that this approach resolves the xwp from n2°3 to nypa
iii) But it results in a new x°wp for vpa
(1) The xw" suggests that there is no v for nypa ono
(2) The xo°0 suggests that there is a 2vn for 7vpa ono
b) v n
i) »ax explains the w1 and xo°0 read this way
(1) xw as explained earlier
(@) YR I NTAY W 2Pn2 [Ypa] IR P s [ano] 19
(2) x>0
(@) MR Parma PR [A032] MY ROW Wmw 2pn avpa [ono] Par
4) R"wamn
a) Nwp

i) Then why does x21 ask that the x2°0 should begin with X?w 173w DpRa Par"
"R

ii) After all the xo°0 needs to begin with "7vp2 ono 2ax" to teach that 7vp2 ono
has the same 17 as 7173% XYW 7w 2Pn in a a0

b) v
i) X217 means that
(1) Since the xw™ ends with a reference to 7% wmw o1pn1a Ivp2

(2) the xo°0 could have begun with "ono %2x" without repeating the word
"7ypa" as follows

(3) MR PmA PR 7932 NTAD ROW AT D1pnY ON0 DA
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T T
NO"MYX X7 Xna

75 PITAN WP NOIAT ATYRT 99 NI T 2707 KON KD KR [2 7Y 7 07
K277 52 HNIOT MW NYWRT IR TIVY 77792 10D 19 210 1" 2w 8190 RN 102N

1)

2)

3)

9"PY 172 7Y a3 MRy 10 weN
mwn
a) yINan PO AW 121 19w TIN5 01D %0 OX ... 7Ypaa
b) IX2m1 X DT PRI YXARA PMST DR 712 077w NYTA WY OR
X3
a) Nwp
i)  Where 12187 and nwnaw together build a Pnma between their two m7w in a nvpa

i) Why need both put up a n>1ni to show that they built the m> together when
they could get the same result if neither puts up a n»n

b) v n
i)  When the mawn says that both should put up a nmn

i) The miwn means that if 12387 puts up a n»n then Py»w should protect himself
by putting up a second n°1ri to proves that 121%1 didn’t build the 5m> himself
on his own mwA

X"wann
a) Nwp

i) If 323%1 sets up a n°1n he needs to place it on the side of the Hn> that faces the
77w of nwnw

i) how could j21%7 have put a n°m on that side of his 5n1> without getting
permission from nwnw

b) y1n

i) The mwn advises nwnw to put up a n°rm if 12387 puts up a n°mn while 12%9 and
NN are entering each other’s m7w to build a 7m> together
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NN DX 9'pnn 2" T e

T7AY 9O "5 RDW AT WP VP2 2N0T 1D 1an AR Ot ''a v"wena
TTITOR RO 1901 N2 RO AN TR TIND 710 9177 D57 1Ry Phaban noyaann
:7'"2 1YY 2DRH 2

1) mwn
a) MR P21 PR DOWOHWT DI ANWRIT DR TN PIMN WHwn 17920 DR 56
b) 9277 IR 1LY PLAI NP2 DR A TV OX MR 0P M
2) AoY P
a) Nwp
i) Under the 1>7 of mwn2 X%w y°an 37w 0% 7710

i) 1ynw has to reimburse 121%7 if Pynw isn’t amn when 2187 improves 77w
mwna ROV N

iii) Why doesn’t the 17 apply here
b) v n

i) mwaw didn’t get a benefit within the meaning of "79vi" so long as there is
no 773 on all four sides
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NX9'0 NN'X n"T'"'wN

A"HT 200 BRI B oy "o RBR NOPR 17T POl RINT RN 7''OR 11D RDOD RPN 1''7a
2NDW AD TAY AR SINPT ID 1O0M PNWRIT IR ARSI RINT MRPT D 2T P!
DWW DPIPAR M D MR D 0T 1R RIT 0 AT MRP ORBR T Y
DU 3T RaR 77 AT 2T RDR NDR WK 10 A"HT b anow T AR 'Y

9'"PY PO RINT ROT MAKRP DR 1nna npel DY

1) mwn
a) MR PR PR DWOOWT WM AIWRIT DR T PIIMN WOWR 17°20 DR 9°Rnn
b) 9377 nR 1HY P9RAPI NP2 DR TN [APN1] TRV OR IR 0T M
2) °"wnon the mwn
a) Don’t be 071 "7721 A1 7Y oX"— instead the correct X0 is "7 7Y OR"
3) X

a) °o1 " says that the a1 needs to pay whether it’s the 7°pn or the 72°1 who
completes the 27x on the fourth side

4) "wvn

a) Although "o "y in the mwn is "ap1 X" — meaning that the a1 must pay if the
APl is 77 the 41 side

b) "p7 X" that the A>3 must pay if it’s the 7°pn who completes the 4™ side
5) X"wann
a) Nwp

i) How does "wn on the X7 fit with >"w4 in the mawn that says not to be o9
"npe1 7y ox" for sor

b) Possible y17°n
i) °"w9in the X3 doesn’t mean that the 7w actually refers to a1
ii) Instead *"wn in the X3 points out that

(1) Despite the p1>7 that the words "7»y ax" in the f71wn refers to the np°1 who
is "721" to be 77 the fourth side after the 7°pn built the 273 on the other
three sides

(2) 77 x7 that the apo1 is oown if it’s the 7°pn who is 27 the fourth side
c) Two nvwp
1) First xwp

(1) It’s a pm7 to say that *"wn in the &) refers only to a P17 when the actual
words of *"w in the X na are that the mawn is "qp°1 Ran"

i) Second x*wp
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(1) Why is it that *"wn decides not to be "ap>1" o7 in the 7awn when >"wA
could explain — as in the X3 — that although the 7awn is A1 Xan still X"
"7 that the same 17 applies if it’s the 7°pn who completes the fourth side

d) y»n

1) Must be that >"w= in fact was o1 the word ap°1 in the 7w and it’s a "3 to
>"w9 on the mawn who says not to be "apa1" o9
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X7 n'whvl v A" TN

IR WDIT RAYY ORI D' O 110 RAPY 1T 3" IR KD nwhw 7w 772 'own
23] (RWIT) 75032 59 93D 97979 DANT T2 P52 ANT MRPTS WD KPUOD nwrvhun
AT5TDY 12 2R TR PPRT NIYIRTT 721 RAYY 12021 NIPIRIN M1 WD O''RT KON [N
WP AYYT 1YY ONDT 7' A% REOT 2R TRPWR MWD ary I "upa bar 1aph 1ans

1)

2)

3)

4)

$5'"mY "0 nopana a3 O''RY
1awn
a) MR PR PR DWOOWT WM AIWRIT DR T PIIMN WOWR 17°20 DR 9°Rnn
b) 9277 IR 1LY PLAYI NP2 DR A TAY OX MR 0P M
ulabs
a) TP

i) For areason not relevant here the X n says that x»p &in and °01° "3 agree that
the a1 needs to pay whether it’s the 7°pn or the 7°1 who is 97 the fourth
side

b) xwp
1) where do &»np xin and "o ' disagree
c) yrnaccording to one XK NOYIR
i) In acase where the 7°p» completed the fourth side
(1) xmp xan says that the npe1 shares the cost only for the fourth side
(2) o1 " says the a1 must share the cost of all four sides
I
a) The reason that x»p Xin says the a1 pays only for the fourth side is that
i) "7"22°K07 [APea] onn KXY 920 MWK N7 ovT”
i) Meaning
(1) Since 7°pn couldn’t recover for the first three sides before he completed
the fourth side
(2) He can’t by his own action change that prior 17 for the three sides
mooin as explained by &"wann
a) Xwp

i) This reasoning goes too far because even at the point that 5°p» had completed
all but a nov of the fourth side the a7°1 would be 37 n°22 "Ro7 R¥P

i) With the result that the a1 should have to pay only for the final nov
b) y»n

i) Must be that this is the reason that why the &»np Xin says the 7°p» can’t recover
for the first three sides
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d)

(1) We established in yvan nx 5ppni 7"7 that to make np°1 pay means to apply
the 7 of mwn2a X5w 1an 77w 7In% 771771 to benefit 1an

(2) ®mp R1n says ap°1 argues that he has no real benefit from three o1
because for him °111 92 Xn7°v1 — meaning a o°x1p 17 to separate the m7w of
the a1 from m7w of the °pn — is enough

Xowp

1) So for &np xin why does ap°1 pay for the fourth 27 if the 7°pn completes it
'aRb

1) once a person is already surrounded by o773 on three sides

ii) >770 7% that "o7x 72 X" who wouldn’t invest in a fourth 273 to be protected on
all four sides

iii) so the 7°pn did benefit the a1 by building the fourth 27
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2"

1) mwn

2)

a)
b)

IR P27 PR DYDY DI ANWRIT DR TR PIMT WHwn 17°20 DR 5pnn
9077 DR 1Y P2A2AR MY DR TR TAY OK IR 0

hqulab)

a)

b)

d)

If the n°pn builds the fourth wall
i) ap°1 must pay

(1) A minimum of &n2°v1 »7 for 1127 according to 27 72 XN

(2) And as much as mppn 173w a1 9% for "o " according to X117 20
m7w of X127 surrounded a 777w Of X117

X121 built a wall around x°117 and offered to accept xn9°v1 °n7 from %237 in full
payment

X237 told x°1n that
i) unless X111 accepted the offer of X129

i) %27 would be poo based on &1 21 according to »ov ' that X°111 needs to pay
2PN 7AW 1 99

3) mooin as explained by x"wann

a)

TORY

i)  When X237 said “and if you don’t pay Xn7°v1 1aR Il rule with &1777 27 and make
you pay 7°pn 7w 1 L7

i) Did xan
(1) Mean that the 75717 follows 1177 27 according to *o1 '
(2) And that unless x>111 settled 821 would apply the 7573
iii) Or did &2
(1) Hold that the 1127 follows x»p &1n according to 27 92 ®*°1 that ®°117 need
only pay 807701 TR

(2) And 1719177 said “unless you follow the 113977 per ®»p Xin I’1l have you pay
as required by &7 297
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b) nawn
i) If X217 wanted to threaten X117 and X2 agreed with xnp Xin
(1) He wouldn’t do so by threatening to rule 139775 R5w
(2) Instead he would threaten that
(@) Unless 111 voluntarily paid xma°v1 °n7 as required by x»p Xin

(b) %27 would enforce payment by being 17987 723X or by being x1mn
X7 ¥an KP7 R12°02
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1) x7mx as understood by on w29
a) This 7x shows the m7w of X117 and k121 before x°117 bought the 77w of 1218

NX1°27 MW

70’7 N20W T
Xo11°

TR0 7T

b) x°17 then bought 12387 77w and the 77w of &°117 was surrounded on all sides by the
m7w of X727

c) w127 claimed he had the first right as a 7%» 92 to buy the 77w of 121%9

d) X2* 27712 X790 " ruled in favor of X°111 because "X79¥% '7 X% '1" — meaning
that x°1171 had the same X9x» 92 rights as &1°27 and it didn’t matter that X1°27 was a
1731 on three sides and x°117 was a 11¥» only on one side

2) x7 for the mvw of onnaR 11027 as understood by X"wAin
a) The initial 2x»
1) m7w of X127 surrounded a 77w of 128
i) X117 was an o in all m7w of X122

iii) X°117 bought 32187 77w and ended up surrounded by the m7w of ®X1°27 in which
X117 was an o™\

b) v of X127

i) If there was a second 17x» in ¥papn 1A then X°111 as an o> could a have a 12
X7¥n claim equal to the claim of 1729

i) But since there was no second j1%» in ¥ppi 713 then the claim of 1’21 as
owner of the ¥ppi 713 should prevail over the claim of x°117 as an o™X

C) X790 21 disagreed
i) Just as 81727 claimed x1%n 2 rights for ypap 71 on all four sides ("x7x% '7")
il) X111 too has equivalent x7x» 22 rights as an 0> on all four sides ("X%7x% '7")
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N qT

|TY0"7 X727 D' D A" TN

"1 HRon BN TMDT R WP AT "D 37U KRBT 9997 92 1" 72 [2 Ty 17 0T)
PIN5® D92 2700 AR 2N 79I Y2777 D 'O 10 RIoi NN T TR0 KD NRwY
THW RHT ARDY R29D DR D 12 DNID 1D TA02 RDOD2 DAR TIDRWMRY 0T ROMWT

TR PRI Y9 12290 NRIIAR DTN AT TINT 3190 15 732 KD RPRWT 57 ani nvmnb
920 71T A DUDIY PIBR TUAY IR0 INYTR I 2T 2WNED R 7Y

1) First nnipn
a) wphwn
i) A m>isn’t 181 to say he was 131 70 YD because 1T I Y0 O PR AP
b) X271 »ak
i) A m>is believed if he claims he was 1111 70 vy19
i) Because the 21 will certainly become due anyway
iii) So
(1) if the 7% has the money now

(2) he can decide to prepay now 77v°% 827 °2°11 °3 — to avoid the trouble of
repaying later

2) second mnTpi
a) mwn on o2

1) 327 2K isn’t believed if he claims that 131 70 (before 30 days) he was 77 a
piek|

3) Third fn7pi
a) mwn on N2 W
1) a"ow isn’t believed if he claims that he paid rent 131 710
4) mooin
a) Nwp
i) Both the mawn on 752 and the mawn on N2 5w are NP to X2 AR
b) v

i) A person doesn’t pay 77712 X7 271 *3 11 110 where it’s possible that the
payment will never become due

i) And for =152 the 170 will never become due if the 32 dies > 7in and for 0w
the rent will never become due if the n>a is %911 and the 121w is forced to leave

5) nwn as explained by the X na
a) Rw™M
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6)

7)

8)

i)  Where a Pm> between the nmxn of 12187 and 1wnw collapses
ii) 721%7 can demand that 17w»w join him in building the 5> up to N '

iii) nynw is believed if he claims that he paid his share to 17 710 312187 before
128 completed the 51>

b) xo°0
i) 7281 can’t demand that nwaw pay for the cost of the 7> above nnx '
ii) But
(1) if pynw is a0 a second P> that’s taller than nwax 7

(2) nvnw has to pay his share of the entire cost of the first wall including the
cost for the portion above niak "7

(3) And he’s not believed if he claims that he paid his share for the part of the
first wall above niax '7

Rapiab}
a) Nwp
i) The xw» of the mwn is a Xwp to wps W
i) The x9°0 of the mwn is a X°wp to X271 »aR
moaon

a) The xw~ should also be a xwp for X271 »ax because 1ynw doesn’t know 131 70
whether 72187 will complete the 2m> to nnR '7 and so can’t rely on X7 %3°77 %"
"1770°% to explain why he paid 1t 70

e 7ahial
a) Nwp
i) Then why is the &5°0 of the mwn a X'wp to X2 »aR

ii) After all X211 »ax can explain that nwnw isn’t believed because he doesn’t
know if he’ll ever be 2> to pay for the Hm>

b) y1n

1) In the xo°0 whether nwaw will ever be 21 depends on whether nw»w decides
to be 7m0 @ P> that’s higher than niak '

ii) So nynw can say | knew that | would be 7m0 a 5n15 higher than niax '7 and
would definitely need to pay 123%1 and "3771°% 827 °2°77 °3" | decided to pay Tn
phtals
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BT R D" oY 12 97770 JIRY AT TIN PTID 27N PRT 119D N7 1D BRT XROWR 772
'R0 35752 MRT RDIDT RIAIT DNIST TRV IR 297V R2IRT 1190 MUwsa nwpe
DIPA2 1A AR IR 2190 19 DT ROR 13122 TARI 77197 2TV 9T KD ORT T WS '
2ITY PR DT 2TV RSORT 127 SOIMOT 12 YUBT WOR T KXY BN pn
TIN YD 2T PRT V02 277 0N AR 2TV WS B'RT JIWIMWKRY VNN
9372 Y9MRT 1R BNIST MIYS 2w DYR 3190 KW ROIT P72 awmh v et

:2'"977 D92 29702 RTINS IR AT TIN YADT TIAY 717 ON ONanD

1) mwn

a)

b)

N\7al)
i)  Where a ?m> between 12381 and nwiaw collapses
ii) 323%7 can demand that y»w join him in building the n5 up to nnax 7
iii) nynw is believed if he claims that he paid his share
XD°D
i) 323" can’t demand that 1wnw pay for the cost of the Hn1> above nink '
ii) But
(1) if pwnw is 7m0 a second > that’s taller than nMR 7

(2) nvnw has to pay his share of the entire cost of the first wall including the
cost for the portion above niax "7

(3) And
(@) W X1 R2°W TY 1N ROW NpIa

(b) nynw isn’t 1Ry if without a "x2 he claims that he paid his share for the
part of the first wall above nwax '

2) mooIn at 'X Ty at Toyn MR ¥2IRn 77

a)

b)

Rowp

i) Inthe &o°0 why is there a 73 that nynw at some point had to pay 32187 and
the issue is whether 11wnaw was p%on this avrn

i) Why can’t nynw claim “I owe 12187 nothing because | — not 12187 — built the
entire 5m>”

YN

i) there are o>7v that 12187 demanded that pw»w join in building the m> and that
nvaw refused

note that

i) x"wann will explain below that also for the &1 on the first four mnx of the
%m> it must be that there are o>7v that 12187 demanded that 17w»w join in
building the %n15 and that 1wnw refused
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i) Because otherwise in the xw too Pynw can claim that he himself built the
oMo

3) X
a) wphwn
1) 37T I YD OIR PRI APINT QWA AR IR 2T TN TNYID MINT
b) xwp to wp v
1) the mawn says that nynw is believed in the xw

il) it would be a mw>w» that nwnw is believed where he claims to have paid j21%
unta

iii) So the mawn must teach that nynw is believed even where he claims that he
paid 1nr 7N

4) nwown at xnvR "7
a) Nwp

i)  Why does the & nax ask that for w°p? w1 it’s a mw ws that nvaw is believed if
he claims that he paid 1mr2a 32189

i) wop? v can say that the miawn needs to teach the xnan that nwnaw is 1R1 and
that we don’t say that "wnw isn’t 7R3 because

(1) »770 738 — the 7"2 can assume the same as if there were 0>7v — that 7218
built the 5n15 in the xw»1 and triggered an obligation by pynw to pay 1218

(2) woph wn says At I ¥ a7R PR APt — R"wann will explain below why
this point is relevant to the x>wp of mooIn

(3) And we follow a 2nx7 1%n Who says 2°7y2 w19 °9% 0°792 172 DR m9ni
5) X"wann
a) First xowp

i)  Why does maoin need to say >770 33X that 121% built the Sm3 in the kw1 when
we have the following two proofs that there are in fact actual o>7v that saw
128 demand that 1w»w join in building the Sn5 and that saw nw»w refuse

ii) First proof

(1) we earlier set out the reason why m»oin says that it must be that there were
0>7v in the x50

(2) and we established that the same reason would result in m»oin holds that
there were 0*7v in the xw™n

iii) second proof
(1) the x°x10 at a later point discusses whether we say pt D1pn2 3°n
(2) now
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(a) if there are no o*7y — so that 'wnw can claim “I built it myself” — and if
we do say mpIi DR N

(b) then

(i) the xwn of the mawn wouldn’t be a xwp for wp> w1 even if it deals
with where 1nynw says that 131 70 he paid 12189

(i) because nwnw would be ax1 with a wn that if he were lying he
could have claimed “I built it myself” and this 1°» would override
the nprn that 1321 730 Y719 DX PR

b) Second x°wp

i) Why does the xwp of mooin apply only for w»p% w1 who says o X 7pin
12T TN YD

c) pPmT2a 1N to the second xowp

i) Even though the 7awn deals with where 72387 demanded that nw»w join in
building the %n15 and nynw refused

i) still
(1) if wwar 70 ¥797 WK Ay contrary to wp? W
(2) The combination of

(@) The 7 that there’s a 21°n1 on nWwnw even 1t 70 to join in building the
o>

(b) And the 17 that y31 730 ¥y 078
iii) makes it likely
(1) despite the fact that o>7v saw nwaw at one point being 21on
(2) that nynw paid wanra X7w and there never was a X121 in the first place
iv) So

(1) there is not even a x°»X M7 that £>7v2 W95 7% 0°7v2 17°20 DR Man
applies here

(2) and it would be no &m2a1 for the 7awn to say that pwnw is 1ax1 when he
claims that he was 1112 ¥y
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mnm 17981 2" TN

IR NRIPSM2 RIIT NSS 297 RAPUS 77920 X310 X777 'K "2 mnon "exY '
297 RNDIAT 190 9D 398N AR RDD 290 RNODT NYBT 23 By aRY 5oy "D avnws
720 RIND RIUTIT 00D 170 ROWR KD K7 DaR 702K RON0T RPIN QR 0107 RDD
PWIATY 277 7792 RITT 271 RDD 27 9120 1''570 7OIRT 132 RO1PK PIDT ROITT X2 AR
RPIN QN7 TIRPNT RAND RIMDT A 0 1Y K120 NINT AW 91T K97 100 N7

217 RNDDITT R2WR ROW

"D PYADIT IV 2w Aown KD 12 pRwn 1o naNnD KD 01 R O 7''N2
N7 RUOWDT X097 N7 PI0RTD 7171 23w 7122 23 70 nownT 23 by xR oy
Y JWRYW ANAT NINNRART T JPPIRWRD 'R BR 270 0 TIVIR KDY

9™ 9572 ansT R JMPIAT

2107 17D ROWP 9277 ©''OY 11D MR 2 T RAPUYT B''PT "D TeT M "7 'paY 7''N2
NR2APYD 37 RNDXA RAPIND 12 1997 2P 12 HI0M MIRT ATV TR WIDWIR N
TR RDPT IAIR M2 ' "7 22 70D ORM 2RI NI B'pT RINT 290 RONR NED 27
AR R

1) First anTpn — ax from o973 P

a) YW XOR DT 20N 1 1AM PR
2) Second nnTpi

a) X992

i) A 21 5ya can never be 7w from oovp PN
b) ywi 277 M2 kN7 20

i) It’s only where there’s a wwn of »oonk *11% that @ 217 Y¥2 can’t be 7213 from
0°10p PRI

ii) It follows that a 211 5v2 can be m2w from oo1wp Prine if "7 20" — where the
m> was 17 before he died that the 211 was owing and there was no »11%

c) The n3%7 follows ywy 297 ™12 817 27

psivi! Q10p PRI 1 M0aa
ANIND 7977 PR 1IN DWW PAM KD XD 21 1
1NInd 7970 771 210w PRI 277 P2 RN AN 2
778 XDOHT MM YT

3) Third 7n7pn — a1 70 2
a) X995 27 and ywi 277 2 ’1T 27 say that 1nt 70 70 27X
b) woph w1 says N 120X 13AT TIN YD DTN PR AP

i) It follows at a minimum that where a 777 dies 11 710 the %% can use this apm
to recover from 2173 0> without a vaw

i) moown considers below whether this rule also applies to asup Pmn
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c) The 0% follows woph v

4) Fourth mnpn

a) moown and w"x1 assume that

i) wp? w1 who says 1nr 70 ¥y19 a7X 1R apin would also say that 1t 7n there is

a mprn that m% wasn’t *77% 090K

hirh!

AN PIVI0 DR
¥I9 M7 WK 0°1p
13T TN 120

AN IV R
¥I9 M9 WK 2T
12T NN

DOI0p 1IN T )

NI 71997 PR

DX MW PPN KD

NDH 17

M3 o090

777 2°nWwI PR
778 XDHT DN

277 72 K17 20
T

Kche=h

0°5n121 Y70 DX
1127 710 "7

05N, ¥71D O7R
12127 710 "8

X137 271 X959 20
YW 277 "2

M3 190

1279 821

UMD DI PR
TN 77X 0°ONM
27

wIph v

5) Fifth 7n7pn — &nxin oy

a) °oX 1"

i) 772 N92IR N2 10 OR X9X D°I0P PRINY 9031 1 PAW PR

b) '

i) N Dwn AWK NAIND7 AR 120

C) Nwp to °oX 1"

i) It’s yawn from certain mn>>92 that a 211 %2 can be 72w from oo1wp PN even

where n°27 isn’t 172 NP

d) yynto the xwp to *oxR 29

i) The mn>>1a deal with where 77 21

il

AN PIVI0 DR
¥I9 M7 WK %P
11T 710 120

AN PIVI0 OR7
YD MY WK 29T
17 I 1N

2°10p 1IN 1 s

MO 1990 PR DI DA P KD XD 27
MO 1950 7T MWD AN 297 M2 X0 20
ML KT N YT

7T MWD AN DX 27

77X XDMHT 1

1M1 7997 PR

21T TN YD DR

0T N YD IR

X117 277 X9 20
YW 277 M2

N3 1o9n

12779 821

Y710 TR PR
TN % 0PN
an1

wIpo WM

e) Note that
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1) the y1°n of the xaa for "ox 27 in line 3 is consistent with the v w of k1"
Yy "7 "M2ain line 2 that 23 from owp om0 depends on whether there’s a
wwn that »oonk »7x

6) mooin

a) 7oRw

b)

c)

d)

i) Does vph v apply also to a»wp 1min® his 127 on line 5 that 11»1 7102 we’re not
w>»n even for pmin that »oonx 77y

i) Ifso
(1) and if >ox 21 agrees with both w°p% w1 on line 5 and also with 2 x1377 27

Yy 277 on line 2 that there is 23 from o%1vp 1m0° where there’s no wwn
of 7oonx "7

(2) Then for *ox 27 a m>» should be 721 from oo1vp P if the M2 was 70 nn
27

First 72wn based on the X723 in 127y noon

i) Can’t be that w>p% w1 says in line 5 that 131 7102 we’re not wwn for »7x
noonk even for ovavp P

il) Because then

(1) if »ox 21 also follows the v w of w7 297 12’17 27 on line 2 that there
is 23 from ooavp 1m0 where there’s no wwn of 7090K 77X

(2) The x7mx could have answered for "ox 21 that the min>>1a that say there can
be 23 from ov1wp 1m0 deal with a 1% who is a1 70 nn

X570 to the 721WwWnN

i) Maybe wp> w1 in fact says in line 5 that 11m1 702 we’re not wwn for »7x
noanx even for oowp PrIN

ii) And the reason the X3 doesn’t say that the nin>>92a deal with a m% who’s n»
1121 7In2 is that the ®ox0 in 1207w follows the v w of 895 21 in line 1 that we’re
never 721 from om0 even where there is no "% wwn

717°n to the Xo7%o

1) We’ve seen that the Xn3x in 127y in the end answers that the mn»92 deal with
where 771 20

i) And we’ve established that this 727 applies only for yw > 297 M2’ 27 in
line 2

7) X"wan at12oex1 "7

a)

Rowp

i) How can m»oin even consider that the & nax in 1239y follows &95 27 in line 1
when we’ve established that the 71577 follows ywi° 277 "2 k1727 in line 2

b) v n
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1) The X nxin 1>y anyway deals with the 7w w of &95 21 in line 1 even though
the 712%7 follows vy 297 a2 &1 a7 in line 2

c) wwp
i) Why doesn’t mooin also ask that

(1) Maybe w°p» w1 in fact says in line 5 that w1 7102 we’re not wwn for "1
noonk even for ovawp P

(2) And the reason the X3 doesn’t say that the nin>>92 deal with a m? who’s
1321 7IN2 nn is that the X310 in P27y doesn’t follow the v w of WP v in
line 5 and instead follows the nv>w of 895 27 and yYw7° "7 M2 XN 270N
line 4 that 1221 730 ¥y719 Q7R

d) yn
i) We’ve established that the 15777 follows w>p% w1 that 11 730 ¥719 DR PR

i) And the X973 in 137v doesn’t even mention the 7v*w of &95 27 and 72 X117 29
YW 277 that wnr Jin ¥y a7

8) Twnn of maoin
a) Nipon of mpoin
i) wph w says that it 7ina we’re wwn for 7oonk »11x for oovp P
b) Here’s proof
i) Since
(1) »oxr 27 says "172 NP N2 19 OR RPN D2IVP PRI 2021 1 P PR
(2) And same " is apow only " nra own fwR nINOL"

ii) It must be that there’s no case where a 211 %¥2 is 721 from o°1vp 2°mn° — SO
that there’s no any exception for where the Mm% was 11 70 nin

iii) Now
(1) Assuming that the %7 follows wp% w1 in line 5 *ox " and 3171 "1 both
agree with the nmvow of wph v

(2) It follows that w>p% w> must hold that there can be no "»>a2x from oo
2°10p even where Yt i mh N

9) X"wan at 7201 WK M M 7R
a) Nwp

i) How can m»oin assume that *ox 27 and jam° ' exclude any case that involves a
21 5¥2

i) When we’ve seen that the & itself established that *ox 27 says a 211 %va is
72w from o0vp Ny where 7% 20

b) v n
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i) The case of 77 2»nw> is a Xv>wso7 XN that ok 27 and a1 " can hold
without mentioning it — especially since the nin>>12 in 1>9y noon deal with
raalaReiiisi

10) qwnn of mooin
a) nnIpn
i) 711 ' holds that a proa can be 7213 from ooavp PN

i) At.vh p"athe xmx asks how this is consistent with the & nom of jam» ' that
there can be™ax from oo1vp PN only if 172 n%5 N2 or for Aws N2>

b) xwp

i) We’ve established that j1m ' agrees with "ok 27 that there’s 23 from P
o°Ivp where 77 211 because then there’s no wwn of 050X *7x

i) Why doesn’t the X3 answer that there is >3 for pr1 because the wwn of »97x
doesn’t apply to p11
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192 TTIN2 P2 9721 MR KNS RIP2 RINT 27 77127 N wWHDR 1D 77232 P2 TINA
9''PY RIMA 522 9997 10 TN 27 1TIAY 9% AR

17

o9'ona n"Tn

NXOTAD RIEAP INXAR AR 790 VAN SR ' X2 050N "ax [2 TRy 1 07]
A2"Y 17929 WK1 0192 7Y %M TwWE W AT bR o

nN'xn 2 a"T nIvomn
9112 11D 9% I RIAIRP 9D DIPH 12 1IN DRNR T IR "D NdEn 2 7""72 'on
0 n'A A"T NIvoIn

PRT 2" B"op "D RARTSD TLRIR WY "D ATRY T 00 T [R 7MY T 0T
Yan? KD 12 RI2ON2 KROR wanwn X97 AURT PNRT ORI RIT anvwipe b m
21977 2wH 29 1D MARTOD TVRINT N1 B 2" DWHT T TURON IRRD

1) X
a) First 72w
1) ORNN 920°RY ORNN 9T M YW RV 0T 70 12K

i) nwnw wants to rebuild the house and offers at his expense to relocate j21x7
during the rebuilding

iii) 7218 can refuse and say X111v X2 — I don’t want the trouble of moving”
b) Second X721
i) Part2

(1) nynw wants to block the current mnm in a Pm> of 1210 and nynwoffers to
rebuild the whole house with mnn at a higher level and at his expense to
relocate 1wnw during the rebuilding

(2) 12181 can refuse and say Xim7v &
C) Xwp
i) s

i) We already established in the first X721 that 1281 can say I don’t want the
trouble of moving

d) yrrn
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2)

3)

i) The second case teaches that 12181 can say Rinqw X2 even if he doesn’t live in
the house and uses it only for »2°x1 *12°n

moaon
a) Nwp

1) At the point when the X723 asked 777117 and didn’t yet realize the y1°n of
"2°X1 R12°N

i) Why didn’t the & n3 also ask why the first X721y is needed once we have the
second 72w

R"wAnn

a) Actually the x>wp applies even after the X3 answers that the second 721w
teaches the 1>7 of >2°x%1 X12°n
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X7 KRBT POORT ORRY ORT oY 12 WIBRITY D129 R 1M "2 vTa BN ' Ta
T2IAT TIT72 RO 2D 77T BY 3T A0 PR IPLIR PART INTAR 11TTD 7792 NN b
NY2T 7190 MINDIR DaR N DR DM JARS 2T WNDR 1D A1 NI 127 11D° PYa
POIAR IR 227 DY 71D PPY 2T IR 19 NOR 727N 2990 I N TN K92

217 1Y IR Y9 PRY 10aR

1) First nnTpn
a) Ry at'a My
1) a7 99 ar maon R AT 9V AT 70T KD 30 PR OIPIN PhRa
2) Second nTpn
a) "wn [o"awn]

i) 777772 X applies to persons who divided a mw17° — 12180 took the “n1o 77w
and 1vnw took 13 7w

il) 327 is considered as if he was 19° 1va 901 to nwnw all of the rights the w
had in nx°n 77w including the right of the w1 to walk in nxon n7w

3) x) here
a) Where 12181 took an x7°990°R (an 1»1x) and 1wnw took a Xx°a7n (a 7x)
b) mwnaw can build a wall in the x>0 that blocks off light to the x7°%00°K%
4) mooin as explained by X"wAn
a) Nwp
i) Because an X7°790°% without 77X has no value at all

i) we ought to consider that vnw counts as the 19° 1v2 951 to 12381 of the X
that passes through the n1°3 on its way to the X7°990°%
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QIATT ONT KD RNWTT 710 N2 3727 19 11012 1R K97 Nwsa 1N B'' anvwp
1D TN M7 IR M N2 ORT OR DWOITIA 2ORTT KA BN NRIR 'R 2T
97T MO N2 O R KD DRI 2OPOITIV QORI ONIT WTD RIWP A1 N0 MTR RNWT
77923 DOTIRT 1N TS N2 TV DV 1B 29RO IRAR D N2 MPR AT YT ROW
RDINY 57923 DIIR RDT 23''R "2 7199 19 ORY B0 207N ROO® RNWTT IND MTH BN
D129 2""AT KON 790 2990 RDT IRTY D N2 90 1P KD IERY 010 2R 29T
"D RN 2RI NN WK M2 Nah DY M0 N2 MPR YT K97 1190 A
|15 NvaR NITDY TR AN QAT TP NI PAD PN TIAPIN KD ORBK WP NXP NN
21977 PR AR M7 1RT D902 TNDT 1100 2WMD W KR 2OWITIA 2T RDDT

1) xn»m2

a) NAW XOR 9 701 KOW WA TN ROR PR 9"YR 77 7231 21X 7DV 71D N2 NI

b) =3 2 pnnT RIM
2) mooin

a) TP

i) Except for a mu w that moown will mention below

i) Wherever in this &>210 the 7 depends on 25w having a 77w that’s n*2 7 pnn"
"1 the ®mx means that the n?1% knows the 77w he’s buying is "1 n»a *pnn"
but is actually only a 1n?%

b) xwp
1) DTN QNI RN

(1) So that even if 0% is 715 n»a *pnn why don’t we resolve the n12mn based
on whether the 1% paid for a o>w 15 N2

(2) Namely if the np1? paid for a o>w 215 n°a the 75w must deliver a 715 na
a>w even if 72 n*2 > pnn 0

c) Two ox1n — both of which x"wann will discuss in detail below
i) First y»n
(1) > paid even less than 7n% "n7
(2) That’s why
(@) If the 9n% isn’t 72 n°2 »vpni the npY? takes a full 710 02
(b) If the 9n% is M1 n°a »pnn the nx1o takes only a 7n%
i) Second y1°n
(1) The n1% paid 0% "n7
(@) If the 9n% isn’t M3 n*2 ™ pnn
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(i) the mm can say either give me wni 12 02 or SMyn 21N
(b) If the 9n% is M5 N2 »pnn
(i) the m® takes only a n?

3) X"wann

a)

b)

c)

d)

Xowp to the first yy7°n of moon
i) Instead of saying % paid even less than n% *n71

i) Why isn’t it enough for mooIn to say that the np1% paid less than a =3 n°2 and
that’s why he doesn’t get a win 3 n°2 if 215 n°a >vpnn TN

717°n based on maws 7700

i) In addition to the x>wp of Mmoo in our Xo7) based on o> 71n D77 R —
namely that “if P12 paid o%w 715 n°a °n7 the 101 should give him wnn 715 N2
even if 712 n°2 »pnn n%”

i) mw 79°an says that mooin also asked “and if nP12 paid only gn% *»n7 the 7o
should give him only 7n% even if 9n% isn’t M3 n°2 »Mpnn”

iii) And it follows from this &o73 that msoin must answer that the nip1> paid
neither 11> »7 nor 7n% °n7 and instead paid even less than 7n% "n7

XOwp

i) Why isn’t it enough for the nvw of mw» 7%°an that the n1> paid more than >n7
70> but less than 710 02 n7

N

i) Since 7n% *»7 would be included in the o»7 we’d say that oy 71n o7 that
n”12 should get only 0%

4) wnn of X"wamn

a)

b)

Xowp
i) We said for 'a yyon that np1? actually paid 0% *»7
i) Why aren’t the o¥>71n o°»7 that 72 is correct even if 9n% isn’t M3 n°2 *pnn
aRb
i) Unlike the 7%7n for mooin that we set out in the mn7pn
i) "2 y17°n says that

(1) In all cases of the & there is in fact a 7n> that’s 110 n»2 *pnn

(2) And

(@) when the xna refers to a case where 0% isn’t 015 n°2 *pnn the X
means that the n1> didn’t know that 9n% is 71> n°2 " pnn

(b) when the & na refers to a case where 0% is 715 n°a *pnn the X
means that the n?1> knew that 9n% is 715 02 »pnn
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iii) Now for 'a ya7°n
(1) P17 paid only 0% 7 and

(@) if 795 N2 >vpnn k2 0% — in the sense the npY? didn’t know — the npY?
can say °mvn» 7°In R M0 N2 °7 10 because the 15w was nvvn the n°

(b) But if np12 did know then the 101 gives him only a Tn>
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nim410 X721 21N

"D MY DY ST D02 T APRR 1080 91D RO 11D NI KR T [2 Ty T a7
"R INRTR 1D QIR DR IR ROR R 7IOHY T WDY PR NI XY 5oy

1) xma
a) DY NINDI0 0% PRI DT DY T T 3R PR PRI PR

1) if 323%7 inherits non 77w and Ny»w inherits o°1o 77w and their w1 used a 777
from o°15 77w through yn 77w to reach the outside — nwinw doesn’t have the
right to use this 717

i) Mynw also has no "amo" rights
2) o"awn

a) the reference to o710 rights means that where 72187 takes a 2xn and Pynw takes an
"5y then 1wnw can’t place his 0710 in the 1 to reach the "oy

3) mooin
a) Nwp
i) what does the X3 add with the 17 of nno10
ii) we already know from 31 5v 1 797 3172 X that they have no access rights
b) y1n
1) This is what the X773 means
(1) 323%" took the n»a and Pynw took the 5y and the 2xn

(2) Even though nwnaw can place the o710 in the 22 he can’t be =10 the o710
against the n»a

4) X"wn based on mawe 777w

a) The same w17 would have applied if 1218 took the n°a and nwnw took the "oy
and both took the manwa “xn

b) The point still is that although ny»w has access to the 22 he can’t lean his 0710
against the n>a that 121%7 owns
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N qTI.NqT
qol' 21 A 2T X19'R 2T ANy 9% AT nivoin

'R Y 30 whD e e Do "D 2nm '™ e "o avna avp b '
957 "' awa

B2 By "D KA M2 1RNNT 10 3112 PRMIT D R 772 [R 7MY 1 a7
$790077 D' IO

2o oy "o 2R RART B 277 7''DTD RN "D noY 20 0 '
M 217 'modX " TN

790 T 1D 29272 719900 ORIT N'ANY "D 301 29% 70eR 1''72 [2 Ty 11 0T
ORY 1D PIDWRRT RITTD RO TINT DR ORM D'RT PR 0oy "0 2y 19ap RoT
1222 392 931957 199 9T TOAR KDY TR 72 A9DY 'Y 2R RINA ORI 52 91 N

9'"PY 2% W NNN 199DDY 29927 NOBS P2 IN 2ITRY 19ap RO by

1) First nnTpn

a) TPTEY M MR T 1R P R 12 103 277 PHOR KA
2) Second TP

a) DY 0oIInn P72 PR T 70w IR Wy Mxn 90

b) npTX is a 77¥2 770w nnaw awy M¥n based on "7972K 1 1270 9732 00"
3) Third anTpn

a) "1xmb 90y onTpo" teaches that a mp7x Rax is a "ym>" if he’s 191
4) xma

a) ap7ea %y Paownn from an R woR because a apT¥ °Rax counts as a "ym>" only if
he’s 7191 an T°nR K97 WX

b) Proof is that X217 was *»X 12 101 " 1ownn who was an 7nR IR
5) mooin
a) Nwp to X2

i) We established that 17 n°2 isn’t ap787 %Y 01 because P is a nwy nmxn
whose 770w 107 is 7732

b) v
i) Either X217 was X 12 301 27 17912 only 2°1272
ii) Or >nX 9210127 had been %apn that X211 could be 7915
6) R"wann
a) Nwp
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b)

i) Then how could the & nx prove from the case of »»& 92 jn1 27 that 11ownn to
any person who’s 77X

YN

i) the proof from °nx 72 10127 is only that piownn from an nx v if the o3 is
0>7272 or if the person is 9apn the 93

Xowp

1) why does the x»3 assume that it’s at all relevant whether the person is an ¥R
TR
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0T
I'nNI9 ' A" TN

"D MITIPO "2 9 PPN 79D 1 1IN PR 50 Bar "o 1AMD PR 772 [R TRy v 7]
220 5oy "2 DR 9T WD NNRY

AINKN OXI1TUNALY ONN DAY TR waoh 'R AN TN

NP X2 9'"op "1 77902 22 90 MTWO 21D N0 7107 11D apunT whnd IR Bar 7''Na
T 71970 RD W WD 23 'R W 11N KD 297U P2 YOS AR NN 7T999aT 90 1
M0 M27H PR 2R AW WRD TIV WA 77 IRT NPT 7T TV Y0 1NN DIoRD n

'™

TTIVO P77 0oy "2 7o DISRY 1R RO TV NN XD 11997 N2 PIni naw a''Ta
T2 WO AT 72 DAN WY R KDY TR 79 RINDAT 1197 NI T DOINY
2T R IRAR W IV 9RT 190 11D 07 1299 O DR D MW 7'M R

"9 1972 7O DR T

AT MWPRY XYY Dop "2 2" Inm 7 R 12 AR 1AM ORRR naw n''RY 7''Na
DR NAw® NARY Naw 990 AN w''ya Y9 PInn mITwe a7 whnh amn maen
WOR PO DR AT ROW IR ITIVOY NAw BOHY KD w''ya 10 PINI PRT RRINT
TARY R''RIAD TARY NS AR NITIVO A9 AN NAWAT RIT RLRIPY NAwa TR
MTIVO '2 NAW 2P WD PINNT V0 PRWRAT BN YN0 DI In2w YN 2Rt DR RY7
12 91092 PR R'YAT INM2 INID A1 WIANRSD KD D'THRT P17 0 AINY D2 md
79N NAR TIV0 Nawa Y0 PINIT 7o ans B2 '5T ROM0T TINN 23 NN TIe P

27 naw T

1) First nnipn

a) An 1w who is opnb opnn 12w brings along nnx n7wo 1ra from this prior oypn
when he arrives in a new opn

b) The "1v typically arrives in a oy in the morning before mmvo are distributed to
o™

c) He is given two mTvo when he arrives so that he’ll have a total of three mTvo --
he takes one of these mmwo with him when he leaves for his next op» on the
morning of day 2

2) Second mnTpi
a) 12°%2 AN PRhn PR

awn RXOW IpRR DX 370 1 w1 'R OIPM2 P22 XD IO

12 103w '21 Y [RRW DRR 1R v qP22 Mo 279 Pann
MTWO 2 12 MARWI NI NTWO INRY I NTWO YR
NAX 770 12 NIRWI N°27W NTIW0 R 27y NTWO YR
DR 770 MR 1Y 117 '3 DpnY P2 RYY

3) mooin
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a) the reason we see to it that he takes a 77wo with him to his next oypn is to have n»
1902 — to feel secure until he reaches the next oyp» on day 2

b) it’s not out of concern that he might not find o>7° at n*nw on day 2 and has to be
72w to a third opn later on day 2

1) because as shown in the next table

il) if that were the reason we’d have to give him three m7wo rather than two
since no 17vo will be given to him on the night of day 2 because p%nn Px
72792 "N

MTWo 2 17 PIanuwa

awn XYW DIPRR DX 370 19 w3 qp22 'R DPPa 3O

12 31NV 21 Y AP NAR MTIW0 A1) W 922 MWD 277 Pann
MTWO 2 12 MARWI NI NTWO INRY I NTWO YR
NAR 7790 12 NIRWI N°27W NTIW0 R 27y NTWO YR
DR 7700 Y 1Y '2 DpnY P2 RYY

MY APDW ATIVO MK DN DI "2 2PN PR IR

2Y7 R 77792 0A0 PRI PR aw TITW A D1pna 79772 WX IR 17908)

4) R"wamn at waoh PR Pax 7"8a
a) Nwp
1) why doesn’t msoIn add that

(1) it can’t be that the reason we give him a 77wo to take with him is out of
concern that in his next 2yp» he might not find a7 to give him m7wo on
the morning of day 2

(2) because if that were the reason
(@) we’d have to give him four m7wo rather than two

(b) since otherwise he won’t have a 770 to take with him on the morning
of day 3 as in this table

MTWO '3 17 1INIT "X 17

awn RYW DIPRR DAR 770 17 W 922 IR0 ¥

12 3N "N Y ApYY DNR MTWO '717 W 922 "2 1% AN

MTIO '3 172 MIRWI NMINW NTIWO IR I NTWO YN

MTIWO 212 NIRWI N°27W DTV IR 27 NTIW0 791N

mTwo '2 1y np1? '2 01pn "2 012 Tpa2 RY

12 NIRWI WAy IRPW MTIO '2 1NIRA DR 99IR ANw 37902 0O oW PR
nnR 770

2 WO DR ATIV0 DIR™M 79772 1N PRI PR aw DY A 01pna 79992 303 OR 1990R

MY NARR ITY0 9 PRY '3 DpnY KXY 7p22 '3 012

b) v n

i) if we were to worry about day 3 we’d also need to worry about day 4 and so
on

i) M0 9272 PR
5) —Twni of mooin
a) Xwp
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i) amwn in axo noon say that »1mana 1m 700 X% MITWo 2 P 17 wew n

il) yet we just saw that once we give the *1v two m7wo in addition the one he had
in hand he has a total of three

b) 10 as explained by R"wann at naw "7

1) the mawn in 785 noon doesn’t count the 7wo that the *1v takes with him from
his prior place because that’s the 77wo that he eats at n>7nw when he arrives at
the new place

6) xwn of the same mawn in nxko noon as explained by msoin
a) MTIYo X2 P naw as in this table

awn XYW 1pnA DR 70 17 W YW 0172 7332 'R OIpN2 RO ¥

12 9103w ') MY IpYW DR A D v 922 MTWo 219 PInn
MTIWO 2 12 NMIRW N°I0W NTIWO NRY MY IR AN W'"'Va 10w nTIV0R 90X
IR 770 12 NIRWI N2 NTIW0 RY 17 N1 DR N2 2772 0927 N0 DR
0192 17 IRW1 XY 12 N1 W ITW0 A2 N2V NTIWOY DN

PRrAvA MO A1 1IN P22 naw

'R 17 IRW1 12 91037 '3 03 w'XMY 0w DTV DO

DAR 770 NN MY P17 ' 0IpnY 9Paa RIY

7) 20> 9> P19 XM
a) Nwp
i) xo°0 of the same mawn in R
(1) »mnana g ap X2 MTwo 7™ NI 0 W n
(2) The 14 mmwo are two m7wo a day for seven days
i) How does this fit with 1127
(1) who say a person needs to eat three m7vo on naw
(2) and for whom there would need to be 15 mmvo for a week
8) Twnn of X"wnmn at naw 7"7
a) Nwp
i) Maybe
(1) the mawn in nxo takes into account the 77wo he brings with him

(2) and the reason the mawn refers to m7wo 7" because the same as mooIn said
earlier it doesn’t count the 770 he brings with him because the °1v eats it
right away at n>anw

b) v n

i) The mawn on mmwo 7" deals with an *1v who’s 7°vi1 °121 and isn’t 12w daily
a)[rlabRakiriala

i) And for this "y there is no nmvo that he brings with him from elsewhere and
there’s no reason not to take into account the first 7790 of the week
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9) Twna of the X3 in>an> %5 po
a) y1°non why the xo°0 of the mawn in x5 doesn’t refer to 15 mTvo

i) the mawn in axo noon follows X2°py ' who says Tavxn PR 7 naw nwy"
"Nk

ii) so that for an "1 even for naw there are only two m7wyo a day the same as ?1n2
10) qwnn of mooin
a) Nwp
i) If the mawn in axo follows &2°py "
i) Why does the xwn of the mawn say that "m7vo 'a 171112 11 naw"
11) X"wnn at mRn oxY 7R3
a) xwp on the x*wp of mdoIN
i) why not say that we give the "1 three m7wo on naw as follows

awn XYW Q1PN DR 770 12 U SWW 0172 P22 RO ¥

(Y2 PImaw "R MY Aphw nax) 2 w"va 0w NTIW0 At 'R AN

NNX 770 12 NIRWI NOMNW NTIWO IR w"ya Y NTIW0 9IIR

>197 0193 12 NIRWI KDY N°27Y DT INRY naw 9°92 n°27v NTIWo YR
n"27Y2 2P 12 PR IR 1P KT ROW wwnw
naw 5

PRrAA MTIWO 'A% PN @°77%2 Naw

Mo "2 17 MR 0’77782 N2W NTWO 79X

DWW TV P9I IR

b 9172 oYY 'R IRw: w" Y DR ATIV0 7O

i) it follows from the table that
(1) on naw 27w the "1v gets only one 770 and on naw he gets three m7wo

(2) So that he has a total of four for the two days or only two a day for naw as
well as for naw 27y or 14 mmwo per week

b) First y1°n

i) The mawn never mentions a day in which an »1v is given only one 7790 S0 it’s
q2non that he receives two m7wo on naw 29y the same as on every other
weekday

c) Second y1n

i) it’s ynwn from the & n3 in *an3 3 P that an °1v is given an extra 77wo for
naw 72>
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2 qT
M1AY TUNAL MmN 12T '001 "7 athyn a" T

997 912 D 2P 2T R AR 10 JBYR DY "D by 1''7a [2 Ty 20 0T
YV K27 3190 0 Doy 1D TN AN YWUNRT 10 110N R0h TR KD 172 XD "1
YOI 102 21PN KUK 957 0D 30 N0 'R 'R "D 790 10hrn nR I
MR RIZAR RPN 10209 PRY 2372 DAk T RINAR RPN 0 NORT 290R 0 72
TR R 'R P RO 179209 TO0D770 K2 WIND PN TIVWY 2YY K92 190D YRR M0
TR STIVVRY APVAT 5T D' DUIWD RAPPD KDY JBYRT 72 "N "0 'R aN
TITT RVRIPY NITRT 3 R''D 2Y9AR 31BN AR N7 TIDURY 1R A1 9172 JhYR

:2'"'17Y I8 272 PR D''RT N2 TANT AN WNT 9 Twen

T9IDR ART 1A B op 12 '2b 77w 92 19 P AR MITRT "2 192 PR AT 7R
2IPA2 MITR "33 RPIT 12997 999N IWISR RIWAT 2 29NWD TR 9 19w 2702
JORTOT VISR 7O9 RPIDDT YRWAT VIWDY N5 ROPRT MR KT 'R 77wa Yan 'N
PODER VLT N NWIRD wASR 'OINT IPTRTR TR TANR TR 1T R AN 700
B5% 392757 ORTY 2092 OSSR 2T 71T KDY I DR 'R 7% 77077 2R DaR Mt 'a e
DRARNRTS RAAIT N0 O 27 R''OY 2"'wT 1190 0N 95D DR IR RN TR N
RI9D2 909N WIDRY MMINTT T 71 RM2 RTIDP RDINT 2957 IN% K297 PnynRwa
PRI IR PRI NN PR DY RNALT TR 0D TN 290D MR 'an pon any
TN TANT PO NI 20 TIMY IR0 ROAID TINA0T 2 PR YRR 1Y TN TN
POIIR 2% 2777 'R DD TR O DRI NPARD RMID TIN0T A PR 12N DR
2RI ARY 377 TIIND PRARD 77T 30 140 17021 25 17 'N2 DRBAN2 77 'R any [10]
RI9D2 207K RIBRD MMINT 1719170 KD 772 23 AT 20 5P 1amn2 MR 'an pbne
BY AR PP0IN 22 WIZ PWRIT DT PITR 2P ORI YRR 1797 D90 N2 RY)
TR N7 AT PPOON 2 372 MITR "2 32 M0 1D MY DY 7157 91 RIRR 7AW 2A
DN 190D 2R FINTI O R IR AR 09N 'ah TR 10 TIR0aw 11an 2w
NDY 179277 KDY PP77R 2% R RUT 7IVIN YRR P09 R 9T 0 pEAR W XY
PRI R2OWY 0K CRIDRD ARPT V'R MARDT 27ON27 RN O MR Ny
N7 777 23 93 DY RUANT 2 2990 1wh RaY KD AR AR 590 wrnb 1 N pxnNa

:P"W1 ralakg
1) X7mx as understood by *"wA
e
NVAY NIWY TR NI | RITH T2 377 IR0 DR

592 37wh pon ST 9872 PN Y IN 9 RNYIR 1

502 77w 22 P90 | 97T XM 3T MR Y N 9 R 20X RNYVIR N

nPY 7 VIaPR 3773 wYa | 0707 ¥R 3Tw MR Y N0 i) X731 TR RNYIR N

2 77 AR M 'R AT

a) First X721y - "R°W1 %27 RIXAR RYIR 1277 °R7"
i) 3231 and nw»w are brothers and a 77w comes to them w2
i) When the v was still alive 12187 bought a 77w near the 17w of the w>
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b)

d)

iii) 123%7 wants his pon of the 7wy 77w to border on the 77w he bought when the
v n was still alive

iv) nwaw wants the 72171 to be by 5
17 in the first X721 per 701 29
i) Twaw is 1o because he says "1 727 20215 MY 0oyn"

i) Which means for »"wA that it’s possible that the p%n that borders on j2181 77w
IS TN n>"ann

Second X721 - "(2°MIX?) 731 *INK XNYIR 0"

1) There are two m7w — each with its own 2a1 — that come 72102 to j21%7 and
a1

i) When the w>~n was still alive 12187 bought a 77w near one of the m7w of the
N

iii) 720%7 wants his p%n of the 7wy to be the 77w that borders on the 77w that 1218
had bought earlier

iv) nwnw wants each 77w to be divided into two parts and for a 51 to determine
which nx gets which part in each 77w so that each nx has a pon in each 77w
and its "

17 in the second X721 per 7o 2
1) Wwnw is 7o — "7 RY ORM 9071 ORI P!

i) one 77w and its 1a1 may at times be better than the other since it’s possible that
one X1l dries up and the other doesn’t dry up

Third &721¥ - "R921 708 ®XNyIXR °nn"
i) There are two m7w side by side that come 7w17°2 to 12387 and pwnw
i) One -1 flows along both mTw

iii) When the w>~n was still alive 12187 bought a 577w that borders on one of the
m7w

iv) 12387 wants his p%n of the 7wy to be the 77w that borders on the 77w that 1218
had already bought

v) 7wnaw wants to decide by 271 who gets which 77w
The 17 in the third X721
i) A0

(1) 2% is 71211 because both nmy7w are on the same =31 and 217°n X7 P
doesn’t apply

(2) It follows that 121%7 is 7371 by taking the 17w that borders on his own while
NVAW isn’t 701 SO D70 NTA ¥ NYNY 1913

i) »ax
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(1) pynw is 107 because he says *01IK "w19RY X1'va
(@) “I prefer to decide by 73 who gets which 77w so that

(i) my n7w may end up between the 77w that 123%7 bought and the 7w
that 12187 gets in the 571

(i1) and o>k of 12387 on both sides of my 7w will be W my 77w”
2) ""wvn
a) Nwp
i) Inthe second 72w
(1) Instead of needing to rely on the mavw of 217 R I

(2) why doesn’t 7o 21 say for 1wnw more simply and the same as in the first
19 that 11997 227 °0215 % 115w because it’s possible that the 77w that
adjoins 3217 77w IS N NoNann

i) And
(1) in the third ®721v where 172 *Xi77 Pa2°7 isn’t an issue because there is only
one XA

(2) why is it that 7wnw isn’t 707 for noY 27 because 11°91 927 20215 9 1Hwn
because it’s possible that the 77w that adjoins j21%7 77w is 901 n72nn

b) yn
i) The first X721 deals with a >¥2;1 n°2 where one 77w can be 201 n31ann

i) The second x721 and the third X727 deal with Pnown n°a where m7w are
m>nann equally

iii) it follows that

(1) in the second x72w - Nynw can differentiate the m7w only with a mivv
of 2171 "xn7 P12t

(2) and in the third 193 - nwaw according to 701 27 can’t differentiate the m7w
at all

3) mooin
a) Xwpon "wa nuw

i) It’s a pm7 to say the cases are different because one is Svan n°a and the other is
oW N2

4) xnx according to on 121 as explained by X"wAin
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an a7

NVRY NIvY 121N NIVY NIX1 12 17°77 12IRT ORT
512 77wh ;i >P7 X¥n2 PO 07 1N = RNVIR TN
9912 ATW 93 PPN | IR AW 1 av R 7w np X7 X733 0K RNYIR >IN
75w Aoy 2 aTw PR
52 77w 92 pona | 2 AW nRR IR 'R 7w P N7 RN TR ROVIR N
a) First X721 "R°w1 72n jar7 "R
i) The facts are the same as described by >"wn
ii) But "% 11%yn" means an arbitrary statement ("7vwy avv X22") by pynw that
“unless you pay me I have the absolute right to a 5713 to decide who gets what
pon of the n7w”
b) Second X721 "33 0K XNYIXR °nn" and third X721 "X9A 708 XNYAR °nan"
i) 7231 doesn’t own any M7w nearby
ii) Instead
(1) y21%1 demands that there be a %13 on who takes 'x 77w with its 221 and who
takes "2 77w with its 231 so that the mwy of each nx will be xa¥n TnR
(2) nynw demands mvwr ayy &22 that each 77w be split into two o°p%n and that
a 21 decide who gets which pon
€) Third R721¥ "R723 TR ROYIR NN
i) 72187 doesn’t own any M7w nearby
i) Instead
(1) 32387 demands that there be a %1 on who takes 'x 77w and who takes 77w
'3 s0 that the w1 of each nix will be x1xn TR
(2) nynw demands 71yvY ovw K72 that each 77w be split into two o°p>n and that
a 271 decide who gets which pon
d) Now

i) In both the second x721w and the third X721 Ynw can’t rely on "™ °5vn"
without 71y oyv because

(1) nvnw can arbitrarily say 1% only if 12187 had owned a prior 77w and
wants the benefit of a 7p12n that would have his prior 77w and his new 77w
on Xxn 71 — in that case nw»w can insist that 121%7 needs to pay to get that
benefit

(2) But

(@) nvnw can’t say *%v 11°%un to arbitrarily demand a 1171 to be 12387 7091
by not having his p>n of the 7wy7> n17w to be xxn TR

(b) Because by being arbitrary 1wnw causes a loss to j21%7 in the nwry
itself by splitting each 7w into two with the result that neither will
have a 77w that’s 87x¥n 71K

(c) And
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(i) if we let nynw make unreasonable demands

(i) ;0 1277 % on how many subdivisions he could demand by being
arbitrary and saying 130°yn

ii) It follows that nwnaw is 721 in the second X721 only because 2172 *Xi37 Py
5) Twnn of X"wonn at 1oyn a7
a) 7oRw
1) For "2 x721v and '3 X72w as understood by an 11271 why can’t it be that

(1) "% 3r%vn is a mavv with "navwy oyv" by nwaw that a 77w might be n>7ann
any

(2) and that this doesn’t avail for Pwnw because 710 1272 1% on how many
mpon might be necessary to satisfy nwaw

b) nawn

i) if "% 31%un counts as a valid mavwy ovw we’d make mp1on despite the possibility
that 910 7277 PR

6) an7pn to the qwnn of the vew of on 11l
a) Note that in '3 x72w
i) According to >"w"
(1) 'x 77w borders on a 77w owned by 72187
(2) The mavw of Nwnw is ™2 77w 1P° M 'R 77W 1R 1 ¥12pY 72T e
(3) nvnw doesn’t demand that there be mp1or of ' 7w and 'a 7w
i) According to an 11"
(1) y21%7 didn’t own any prior m7w near '} 77w and '2 77w
(2) the mwyv of pynw according to on 127 is "2 ATw 95 P1om"”
b) now
i) For-"wn
(1) The mavv of Pynw as understood by *»aR — *0°IR *WIOK? K1Y — IS VWD

(@) nvnw wants a 77737 that could result in his owning 'x 77w that lies
between and is nannwn by the 77w that 121%1 already owned and 'a 77w
that 12187 gets in the 7570

(2) For on w20
(a) we need to be axan precisely
(i) how nynw proposes to make the mpYon by 5

(i) and how the p%mn or o°p%n he might get by 71 will be an advantage
to Nvnw

7) Twnn of nvw of an 1wan
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a) on a0 says that in ' x72w the 931 was P oon between the two m7w as in this a1
1
X

XY
Naw [ ] N AT

8) X"wnnn at "anw 7"Ka
a) Nwp

1) Why doesn’t m»oin accept that the 711 isn’t P°097 between the two m7w as in
'2 71" where the m7w are on the same side of the =1

2%
al 'R 77w
207w

b) First nn7pi to the yaaon of X"wamn
i) »ax says in our & na that

(1) a o2 who receives a 122 pon as well as a vws pon receives these o°pon in
adjoining plots

(2) By analogy to vw»s who receives one undivided 77w
c) Second n7p to the y17on of X"wAmn
) Xwp
(1) how can »ax accept that nwnw says 0K >wIOKR? R1Y2

(2) If as a result of the 7737 the two parts that a brother takes can be
separated from one another

i) v

(1) must be that a w is entitled to an undivided plot only for an individual
77w and not for what counts as two m7w

d) yrn
i) it follows that in the third x721v
(1) Each n7w that nynw wants to divide counts as a separate 77w

(2) Because 'x 1% applies and the m7w are divided from one another by the
pbs|

9) Twnn of X"wAan
a) First mnTpn
1) an7w next to the 731 has more value than m7w that don’t border on the =
i) Here’s proof
(1) No one suggests that m7w can be divided as in this 3 1%

PRI
1 | 27w | 'R AT
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b) Second nnTpi

i) w"R1and qoy Pl say that it’s ynwn for »ax that when nwnw says x1va
DMIN WIDRY

ii) Mvnw means he wants the chance in a 7

(1) for his 77w to be y¥nxa the mTw that go by npYom to 12187 and to be nannwn
by them — somewhat similar to the ivw of >"w~

(2) at the same time that the m7w of j2187 aren’t ¥y¥nR3a any m7w that go by
a7 to PYnw

¢) third anTpn
(1) Either the m7w are divided parallel to the 21 as in "7 1%

7Y
| [ ] |

(&) And the m7w are distributed to them as in 17 1% or in 27 7% so that
each gets the benefit of a 77w that borders on the =2

17 1%

waw | 7w | w| ywaw [ W
2'7 %

waw [ w0 | W qwew [ pw

(2) Or the m7w are divided as in "7 %

BRI

K | M nnw
YR 7K

d) xwp to w"x" and 70 PN
i) In'Tarx
(1) 2% and nwnw each has one 77w that’s y¥nRa of two 107X of the other

(2) why does »ax suggest that after the 5711 only one nx will have a 77w
that’s yxnx2

i) And in ' % neither has a 77w that’s yx¥nKRa
e) yn

i) Mynw wants a 71977 that can have the result in 'y 7% where nwaw 77w is y¥nxa

Ny
10 | wow | wm | qwew [ jawn

f) xwp
i) But then the 7%7a7 can result in 't 7% where 1w has no 77w on the 21 at all
i) And we’ve resolved that it’s a muw» that n7w on the 21 have more value
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e | Ay [ wm ] pwa | v

g) Yn
i) Must be that w"x" and 7o *p11 hold that nwnw still prefers this 77937 on the
chance that the 7%7x7 will result in his m7w being the ones that are yxnxa

10) qwnn of X"wAn
a) TP

i) If we don’t follow the nvw of w"x1 and 7o P11 and we hold that it’s not
necessary that a 777571 needs to have a possible result where either 1218 or
TNVAY IS Y¥ARa

ii) The following 'm 71°x¢ shows the resulting m>n and the resulting o x of
12187 and vnaw

R
ot | 2O M| O'ROMW | 'R OMK
nRwT | 12RT nRwT | 1RAT

(1) Note that
(@) 323%7 needs two 10Xk and v needs two oK

(b) 3123%7 and Nynw each has a 77w that’s not nnnwn by two 1o of the
other

b) xwp
i) Presumably nwnw ought to prefer a np1orm as in 'v 21y

LR
TR O | MW YR nnw
Mo 'ROMK

i) Where even if ynw wants to use two o> he still has the benefit that both
his m7w are on xx» 71 and one of his m7w is nanwn both by his own o> X on
the right and by the o°9x of 72187 on the left

c) y™n

i) 7wnw doesn’t want a 3p17n and 7970 that can result in 72187 needing only one
D™
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AT
X)'TN'X n"1n

2T M9 MY 19930 DR PROR TR D1 D''RT N2 RIT MOX 7'7n [R Ty M nT]
MY K92 1WA TIVY N2T DD INWH DV R VP TAY WP IMIRDY 2oy "D %A
19927 99 IR TIPIDT 07 712 PR TR 17927 DR PYOD DIDY ITART 700 RN 1 2T
D% MR NPT "IN TR ORP TN IR TIAT RITT WINRTT 2NOW 7R DD 21w
T2% 21 9"22 7712 IOY Doy "D Noab RIT RRNwR KON MIYH TRIVT 927 1RY
SINR TIDR ORP TR IN TIAT RIPTT 70 whDR R'MANMT XA 'ana awa R"'yp
7''27 997 NI2D RIT WANWHA AT 23 DY O RO N2 7127 10 aR) 180N O
SR DaR 2190 790D KD Y71 W9 300 727 N2k W DY RNT I AR R 1AW
YIRAY IDIIH 1 NI AT DY 9PN TANT 0T 712 DR K92 23T MY IR
72757 SR Y9N N7 RD2 1927 170927 DR TO0DR RAT IUTY 1022 TI0DR RN 77 DY R9Y
TIAR TP DY 12T 9T VAT IDIRY VW 712 DD KUK 2T TR KD OR 17O
27219 2127 K97 1192 2917 Y9902 DaR MR 171917 I RAT TOW 190 MY X7 a8 BN
NOORT N297 927 10922 79007 K17 97 713 AR 2''9Y 7IRD 72 1701° 9190 1R TN
272 WIPYR AR 29727 INW2 SRR TN IR TIA 19D 9 N7 ORTY 12D RT0D

2'TY T W% MRS M

1) First nnipn

a) TR IR T2 means one AMw (32187) can set a price at which the other amw (nwnw)
needs to decide either to buy the p%n of 12187 or to sell his own 517 to 121%

2) Second TP

a) The mwn refers to various things that have no np12n 17 without agreement by the
oMWY

b) The x7nax says that a amw can still be pHon the other by 7R R 71z
3) mooin
a) " as explained by R"wann

i) 72387 can set his price for 7% W 713 as high or as low as he wants — even if
different from 1w as determined by a 17 n"a

i) Because

(1) if 123%" sets too high a price nynw will sell his share to j21%7 at that high
price

(2) if 121%1 sets too low a price nwnw can buy the pon of 121%0 and readily sell
it to others — pwi1 11 XS — to recover the money that pynw spent

b) &"ax™
) xowp

(1) Tt can’t be that 72187 can be n%vn the price higher than 1w as decided by
77 N7
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(2) Because otherwise
(@) inaapon P71 M2 pRY xn where neither anw can force a npYon

(b) 123% can force nynw out of the 1xn by setting a high price so that Pynw
will be forced to sell rather than to buy

4) R"wan

a)

First xowp to 8"ax™

1) why is 2xn different from any other property that 1"5nw own to which X 712
7R applies and which can result in 7790 of a amw

b) Second x°wp to X"2x"

d)

i) if X"2x>7 nevertheless holds that 7k 1R 71 can’t be used in a 7311 to force Pynw
to leave if he wants to stay

i) why does x"2x> accept that 7% W 712 is acceptable in a 73 if 12187 sets the
price at 1™w as set by a 17 n"a

7P to the y1on of R"wnnn
i) w"x" says that 7R W 7 doesn’t apply to a npY?m 1°7 72 PRW 130
(1) Because s adds to the usability of the n»a that’s located in the 731

(2) And 7ax & 7 can affect not only the removal of ny»w from his pom in the
1317 but also the usability of the n»a
'aRb

i) X"ax agrees with the basic X120 of w"x2 but holds that 71K W& 71 applies also
to a 7xn7 in an 19% where the price of the 7% 1R 71 is the mmw of the 1% as set
by 17 n»2

i) Because

(1) When 17 nva sets the price at " w" it sets a value that also takes into
account the 7097 that nwnaw will have from the reduction in the usability of
his n°a that will result if pynw sells his P51 in the 23

(2) But

(@) if 7 n°2 doesn’t set the price it’s possible that 12187 will set the price
higher than its value to w1 1» 71X but lower than the price that 17 n°2
would set after taking into account the 7097 to wnw in the value of his
ma

(b) with the result that

(i) nvnw won’t be able to buy the p>n of 12187 because 1wnw won’t be
able afterwards to recover his money by selling the porto 12 X
a7y

(i) and nynw will be forced to sell at a price that doesn’t take into
account his 7057 from the reduced usability of the n»2
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121 DX '91D A" TN

722 TP TI0ND MORT 12 MNP DR "D 951D NAR N''RY 10 127 DR PR AT
MRS 127 DR PPDID ORMAR ONORT MMWPRD XM B''op "1 DR v12 9% 0 "o
TR 97 MARY MIOMM VARY TaYT UMW 01957 901 172V 1R 970 RUMT W9 21N
TRV MY 1D 129 DR DD 7727 IR SINTT 277 1D MR MW RTIT BT
131 DR 912 99 DT TRV M7 KD 17T 9D NAw KUK 2900 KRBT 1100 1Ry Mond ban

HrAR g

1) X

2)

3)

a)

TN 2 1PXM T2V PRAY N
i) 917K 170 N2 RWOY 2127 WK ANOW KWL
i) 27 195 XOR 07w K121 KD XYM
i) 77917 712 10X PWIPY 127 DR 7O ROX

maoin

a)

b)

Xowp
1) [WyY2 2w 7Y Nwnn

i) why do we force the 27 to be 127w an nwy so that the 7av can be o>>pn the mxn
of "7 "

IaRb1
1) The mxn of 121 M9 is a 7127 Mxn

mooin as explained by x"wann

a)

b)

ptay

i) by selling his 11 32 half and becoming a full 72y the 177 32 P2 72 X0
could be 1777 92 naw o»pn — see oW RwY 7"70 at .Rkn P

i) And the reason we don’t tell him to do this is because a person who sells
himself as an 72y is 721y on the 7wy of 272y R’ °12 %%

Rowp

1) Instead of forcing the 21 to be 72w an nwy by mnw in order for the 72y 1xn
71 12 1% to be 121 19 07pn

i) why don’t we tell the 1717 32 1°¥m 72y 1xn himself to be 22w an 7wy by selling
his 1711 12 half to be 17 53 naw o»pn

YN

1) For a mas mxn of 12 11 by the 171 72 v2i 72v 1R we’re 7910 the Ak to "W
Tyl

ii) For 117 ®> naw we’re not 71912 the 117 12 »¥m 72v 130 to be 72w an nwy and
sell his 1 12 half
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AT
T"0 'NI 0 TN
T2 IRTRY ORIY ATINN 999N KD ORT W'D RAT "D N 70 ORI 72 [2 Ty 2 0T
TONTT PIAD POV 3T RTAD ROR ONRITDY INT? 1IINN 9T RDT WD PR Doy "o
I JRUARAT 190 TIAR IN TIA TR KDY P''O% PR9IT ORTY X727 770N Sw nn 2
PR DR DY RAT TR IR T TR IO PRI P PR BT b PRY
T TR RANDRY TAR TIDT ROMIT DRI PR W7 1D ORAD 99 ¥NINT
PERIT DR I PIATI RAPIRD 3721 JIORM I PRI 1WA MR RN T ONX BaN
IN TIX MY D NOR ORTIT MRRPT RIT WD ORR WP T PR "o w'an p''ob
1TONAN 9D9ME RDT D' AR ORITDY ORITD 1IN ODIMRTR DY T RIAY TR TN
927 IRD2 DRI YW AR D29 ROW 00 T AN "IBR DX KDT NV NI
SARP ISR A''702 TIDW TINANK XN PRI NIDIID SN2 Y9IDR DRIAWT RNDR RN
RO} 3799190 RS U2 TR IR TR {RD2 N I} namb 30 N suw w''
AN RPN P19 9295 KPR 9092 N2n0R anTT) ann TR 9o ORTY ORT 959X R0 {7
21979 9792 KD 1Y {TIAR IN T RN 1D

1) First nnTpn
a) See x17 0K "7 for the meaning of 7R 1R 72
b) TRRIN T
i) Can establish the value of o°p%r in a manmw
i) And can also be used to be P01 a anmw even from a 7p1%n 12 PRY 127
2) mwn
a) PP R? 0¥ oMW ©"YR WP and
3) XM
a) oXmw
i) The nawn says y»17m° X2 only because of 11°12 where the w7p *an> are in one 713
i) But the y7is P if the wp *ano are in two m>°1d
b) »ax
i) HXmw means that 2 for m>>5 '2 even if only one anw demands npYon
ii) This proves that >xmw holds that 78 IR 737 X7 DX
4) mooin —xn1 of the 7w w of »ax
a) Partl

i) The m7wn on X 775 must deal with where the 772 contains different o190 —
for example 770 and o°x%°21 — because why would 7710 be written twice in the
same 71>
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ii) Rmw by two o°375 deals with where — similar to 7nx 772 — each 795 contains a
different poo — for example where one 71> contains ywyi° and the other
contains HXmw

iii) Now
(1) generally vy and >Rmw aren’t P in value
(2) so
(@) when Hxmw says there is a 719n if demanded by one anmw

(b) hen one amw takes the 71> of ywn> and the other Anmw takes the 775 of
oX1mw and the anmw with the more valuable 75 pays the o7 a7y to the
other amw

(3) That’s why *ax says that since xmw says 12 it must be that there is a
17 of 71X X 711 that’s used to determine the relative values of the o°313

b) Note that
i) If 5xmw had referred to two m>>> that each set out 710 and are equal in value
i) No amw would be harmed by a n1%m since each would retain access to 77n
iii) and
(1) »»ax would have no proof from x1mw that 71& 1R 77 X7 N°KR
(2) Because we’d force p17n on these facts even if there’s no 1°7 of TR W 71
5) Twnn of maoin
a) Nwp

i) Since the m>1> are ">xmwn w1 even with the 127 of 7R W 17 why can any
one amw force a 7PN

ii) 7% W 7 should apply only where there’s no P12 and one anw is phon the
other in full with o>»7 and the amw who’s p?10% can use the o°n7 to purchase
whatever he needs

iii) But where

(1) there’s a np17n that’s forced by 12187 and nynw takes ywyi and 32187 gives
Nynw only o7 7w in an amount if any by which Sxmnw is mw more than
I

(2) what will nynw do when he needs access to xmw
(3) and in fact what will 1218 do when he needs access to ¥y
iv) In short " &7 285 2278 177270 0"
b) v n
1) °n1°07 PR
i) The & n3x could have asked this xwp
6) nvw of Poa v brought by msoin
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a) TR IR T results in ap1%n even if X9 *RI% 220X 1N
b) And »ax says

i) that it must be that Sxmw holds that 7R W 737 X217 n°& because if there’s no
77 of 71X X 713 we’d have the xwp that

i) There ought not to be a 1917 17 for two m2*7> since °2°9% 173°7N7 %3777 %"
"RT? 9278 111N ORiTY

7) Mmoo
a) Nwp to o

i) it’s ynwn from the &0 of oo wo that if "X *R7I% W0 28 XY it’s a
muwo that there’d be a 21717 even if there is no 17 of TR IR 71

ii) but
(1) the reverse is true — If &%) 9877 17°°170 9278 RY" it’s a 1ow 93 that there’s
no np17n unless there is a 17 of 7R WX 7
(2) in short — without 78 1R 73 — "R *XNAR"
8) X"wann
a) oRw

i) what does m»oIin mean by ">xi721 °kn? 17> °3°1% X" and what does nvoin
mean by its X*wp to o we

9) x"win considers two 0°5%n to explain the 7115 of msoin
10) First 727 to explain the x>wp of m»poin
a) The first 7700

1) ORI ORTY 17010 0308 XY means both 155 are the same — for example
they’re two m>>33 of 770 - so that each Anw needs access to only one 773

ii) and it’s in this case that mooin asks that it’s a 10w 93 there’s a npYon only if
there’s a 17 of TIX X 71

b) First xwp
i) Can’t be that '} 777 is how mpoIn understands o w»

i) Because we’ve established that it’s 1anon that m>°1> 'a deals with Pxnw ywin
similarly to 7n& 775 that deals with o°%*21 770

c) Second xwp
i) Can’t be that '} 777 is how mpoIn understands o w»

i) Because we’ve established earlier for msoin that if both nm3°7> both contain
770 and Pw 1T it’s a muews that 190713 W are correct that either amw can
demand 7191 even if there’s no 17 of 71X WX 71

d) yyento the second Rowp
i) This is how maoin understands P07 w»
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i) °RA91 KD 177N XM RY in fact means both m>°1> are the same — for example
each contain yw1 — but they have different values

iii) And that’s why m»oin asks that 7% R 71 ought to be needed for this p1%n
e) X279 to the possible y17°n to the second xowp

1)  Why would maoin assume that o w» refer to where 1w 3°K 37°n7 and
therefor to ask its X>wp to o w»

i) When msoin could say 1o we refer to where pw j7°n7 and o207 w» are
correct that 71X 3 7 isn’t needed to support 2171

f) Third xwp
i) Can’t be that '} 7771 is how mooIn understands o w»
i) Because

(1) even if mooin is correct that there is a 720 to require TR X 71 also in the
case of 770 and 770

(2) Why does noo1n ask that 3o 9> that it’s more 22n0n to say 1°p21n — and
also to say & W 7 — for ywin and YRvaw than for ywy and vy

(3) When in fact it’s less 12non to say 1°p2n
(@) for ywr and Hxmw where the 1onw each need access to both o315

(b) than for ywin and ywyne where Pamw can make do with one 775 after a
mon

11) second 7%nn to explain the x°wp of mooIn
a) m»oin understood that for o w»

i) Sxmw in fact deals with two mi>°15 where one 775 is vy and the other is
ORI

i) "R 2872 °3°7% 17170 means that no Anw has other access to v and
ORI

i) "R 9872 17070 0% XY means that each amw has other access to both
w1 and SXmnw

b) That’s why mooin asks that it’s a 19w 2> that

i) It’s more 12non to say 7m0 even without 718 IR 713 for X791 987D 937X 711N
where each will benefit from the 371917 in at least having access to one of the
0°790 he needs

i) Than to say y2m° without 7% W 713 where *Xi21 °Xi77 °2°7% X7 and neither
needs either 7oo at all

c) And when mooin concludes "yp?m *xaR" — moon means what do they gain by the
mon
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2IX7219 77790 PaR 12 R''22 77790 A 7''0Y "2 InmR X2 anw 1772 [R Ty 70 07
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N''22 3972 RN 2ORI21 779157 DRI PRI 25702 RPITT OM0DD RO 2" DRIARN

21977 3120 19D INRD TIRYT 7O 2RI TN RT ROT 2''RWN PR

1) First nnipn

a) °"wn at :» a7 says that it’s 2w to be 7370 P2 in one 775 from o°%°21 in another
T

b) From this it’s ynwn that >"w holds that it’s mox to be 70 9nn from o°x°21 in the
same 70

2) Second TP

a) moown at ;1> a7 at 7"o w1 a7

b) It’s 7mn to be vy gmin from Hxmnw
3) xnrM2

a) It’s amn to be 70 7mn from oox021
4) moon

a) The xn™ais a X°wp to the muw of *"wA
5) x"wann

a) Nwp

i) Why doesn’t moaoIn recognize that the kn>>72 is also a X*wp to moon at 3 77
b) y1n

i) For mooin we can answer that it’s a 11°12 to be 7m7 one &°21 from another but
it’s not a 112 to be 7710 70 from ooX°a:

i) For>"wn this y17°n isn’t available because we’ve established that it’s yawn
from >"wA that it’s MoK to be 710 77 from oox021

76



771 XNONAlL 1D 12 0121 NNIN 190 X' K7W 0'NDV "2 DY N"NY) XNA
NN Nav Ny

2D "2 A7 DD PR w10 D101 777N DT RITY RPW 2DV '2 2w 1N RN
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STTITANT S2AD 1MARW TITS AW K27 3''OY 5 DRI VAR PINT TN NI
DITMY 'R 32 Y 39N NIMIRTT bRt 'Y Yans anhi snw 'sa 'onnw »
TAYRWY T DRN 1T IR NIMIDT N2 2y NIMDT 205 H1DM PR DR anah 19N
192 939977 2" PN NIPDINY JAMND 37 DEN T JTONR PR TR 1AM 30 whsh we vl
BTSN AR 'Y 5oy PN DR 12D 1 BRR 1T NITHR P MIMD ymawn nm®
"OINT ON2TD NMIMDT NNN DTN 1T MM AR ROR PNYRRA 30 2D KD
SR 2792757 DY NIMIDIT 9NaR B RNIN22 10T KD 217 9272 RITT ORI
BY KDY 12710 DY DITIRIT NIBWIA 1R 3110 92T DR VN PTRTR 1R 2w RN
TIT NI N2 PO T 'Y IN2T72T 2N 21 M2 10 D KDY B'oy 1T
92w IR P2 33997 2" 1IN NMIDINY T DY NITIN TR DR WD RINN
727 727722 WMIDR 12Y TN DR 12amnD 9T DIR I NITNN 1T A 12w T )Ime
27DV '3 KON N1AY 1977 KD 90D NI 19T JFIT OY NN mawn nymbe B 7''s
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1) &
a) The mmY were 6x6x3 o ndY
b) The Pax
i) according to 7°xn "1 was 15x9 oonov
il) according to n7w "y was 12.5x7.5 o nov
c) the 770 790 was 6 o°nov long with a diameter of 2 o nov
d) the length of the 1% ran from 9% to o117 and its width ran from n=in to 27vn
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2) npYonn of kn " and a1
i) For 2°kn ' as explained by &"wamn

nam

SR 9
719% anT
WX ok fwx "IN
i ik

WX

29N
ii) here is how the length of the 17 was used

(1) the 12-nov combined length of the mm© lay along the 15-now length of the
TN

(2) one nov was taken up by the walls — half at 2177 and half at 119x — leaving
two o°nov along the length of the 11 for the width of the 7710 250 whose
six-now length lay along the 9-niov width of the 11X

iii) here is how the width of the 7% was used
(1) the 6-nowv width of the mm? lay along the 9-rnov width of the ax
(2) one rov was taken up by the walls- half at 21 and half at 29w
(3) leaving two-o°now to make for ready access to the 710 190
iv) "p1 mmea pR" is a m12°1 that teaches the 770 790 was placed in the 177X
b) According to 77 "

i) the 12-now combined length of the mm? lay along the 12.5-nsv length of the
TN

i) One-half nov was taken up by the walls — ¥4 at 119% and % at o117 — leaving no
space along the length of the 111x for the 77 n 190

iii) and since
(1) the 6-now width of the mm® lay along the 7.5 now width of the P
(2) there was less than 2 onov left in the width for the 2-now 770 990

iv) instead no> >y were placed along the width

c) "wn

i) xwp
(1) what is "p 1Ra PR" 727 for i M

i) v

(1) must be to teach that mn% *1aw were placed in the 177x under the mm®
mnow

78



3) R"wann
a) Nwp

1)  Why not say that the »12> for 777 " is to teach that the o> >y were placed
in the 177X

b) v
i) The no> 7y aren’t mentioned in the 7710
4) R"wan
a) Nwp

1) We’ve established for =°x» " that there were two o°now left along the width of
the mm% that were used only to make for ready access to the 7710 990 that was
placed as described earlier

i) As in the next qx

(1) Why wasn’t the width of the 7710 290 placed in these two o ndpv past where
the width of the nym?> ended

(2) With the six-nov length of the 7m0 290 being aligned along the rama-length
of the 117x

iii) this way the length of the 7710 250 would have been oriented in the same -0177
19x direction as the length of the mm?©
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5)

6)

i) must be that the length of the nym? in fact weren’t oriented 9%-0177
il) instead the lengths of the mm?> were placed along the width of the & with
(1) the top of the mm> ("21x") facing to 27vn
(2) and the bottom (w1 "wx™), facing to
iii) So that the .17 172 could read them from n-m
iv) And that’s why the 770 790 was placed in the same orientation
"9

a) for 770 "1 note that the Mm% lay on their six-nov width and not on their narrow
three-nov side

Twnn of R"wann
a) Moo in ani *nw pad based on w1 says that
b) as in this 7x

7am

N9x¥ o7

27yn

i) The mm> stood on their narrow three-nov dimension and their length ran from
I to 2vn

ii) So that along 12 o°now on the 27w side there was room not only for the mim>
mn°%w but also for the two mm? »aw

c) wwp
i)  Why does °"wn say that our x°»10 holds that

(1) the mn5w minY? rested on their broad dimension leaving no room for the
mm>s ""avw

(2) And the mm® »7aw had to be placed under the 5w mim®
i) and why does *"wA explain this only for 777 ' and not for 7x»n '
d) yrn
i) For xn ™
(1) Our x°»0 doesn’t mention MMY? 12w
(2) And the reason must be that
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(a) they lay under the mn*5w mm® and didn’t use up any space alongside
the mn5w mm®

(b) so that the mm% 12w aren’t relevant for =°xi "1 in his description of
how the length and width of the & were used

i) Fornmm ™

(1) our xna does mention the mm?> »aw because for 7717 " the X3 needs to
explain that "7 1782 PR" teaches that mm?% 12w were placed in the xR

(2) And I might have thought that the mym?> were aligned on their narrow
dimension to permit the mm? >72w to be placed side by side with the mm?
mnow

(3) So >"wn alerts us that this can’t be so because if 7°x» "y and 777 ™ had
disagreed on where the mm? »naw were placed the xn>>12 would have
mentioned this npYonn

N7 P XN

w1 AT Y
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